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ABSTRACT

The tables contain internal conversion coefficients (ICC) for
20 values of the atomic number Z over the range 3 <72 < 30, including
all Z > 14; 10 multipoles EI-E5 and MI-M5; 19 gamma energies ranging
from 15 keV to 6 MeV for the K-shell, and 18 energy values between
15 keV and 2 MeV for 3 L sub-shells.

The calculations are relativistic and take into account the finite
dimensions of the nucleus in the model for the surface transition currents,
and a uniform charge distribution over the nucleus with radius Ro = 1,2 Al 3 fm.,
Use is made of the first non-vanishing order in the perturbation theory and
the one-electron approximation for a free neutral atom with a spherically
symmetric potential., Allowance is made for the absence of an electron in the
final state, The binding energies are taken from experimental results. The
calculations are made in a relativistic Hartree--Fock-Slater atomic field (HFS)

with the coefficient C = 1 in the expression for the potential exchange term.

The paper presents tables of electron densities close to zero, making it
possible to go on from the ICCs computed by us %o those in any other spherically
symmetric field for which the densities close to zero are known., Tables are

given for a transition to ICCs in an HFS field with coefficient C = 2/3.

A comparison is made with former calculations, disregarding screening and
non-relativistic computations. The difference amounts to 30%. For Z = 30
there is a comparison with the Hager and Seltzer tables. The difference is

almost entirely governed by the difference in selection of the coefficient C

in the potential exchange term.






Introduction

Despite the fact that experimental studies of internal gamma-ray
conversion are being conducted for almost all radiocactive nuclei, including
many lighter than zinc, there are as yet no tables of exact internal
conversion coefficients (ICC) for the atomic numbers Z < 30, The widely
used ICC tables of Sliv and Band [1], Rose [2], and Hager and Seltzer [3]
do not contain these coefficients for Z< 30 or Z< 25 [2]., For light
elements there have only been approximate non-relativistic calculations [4, 5],
or simple and extremely relativistic equations [6], and relativistic
calculations [7, 8] for 7 = 10, 15 and 20, disregarding screening, and only
for nuclear transition energies EY >150 keV, Furthermore, in Ref, [9], for
data taken from Refs [2, 4—8] there is interpolation and extrapolation for
each Z over the range 6 < Z< 24, with the introduction of approximate
corrections for screening (using Eq. (6); see below), The error in
theoretical ICCs due to all the approximations introduced into the calculations

contained in Refs [4—9] remains uncertain,

Generally speaking, since we are in possession of computer programs [10-12]
for calculating exact ICCs, they can be obtained for any Z or multipolarity,
and for experimental values of the transition energy., But for rapid analysis
of the data, for planning experiments and for reference purposes it is more

convenient to have internal conversion coefficients in the form of tables.

The ICC tables that follow have been calculated by the program described
in Ref. [10]. They cover, basically, almost all multipolarities and energies
encountered in practice at these values of Z, taking into account the fact
that for Z > 16 and energies greater than 1 MeV there are tables available [13]
for the K-shell.

Calculation method

The bases of the ICC theory and relativistic expressions for ICC in the

T
i-th atomic shell a§ L) are given, for example, in Refs [2, 14-16]
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where ¥ L is the multipolarity of the nuclear transition (EL - electric;
T . .

ML - magnetic), Mg g) are the conversion matrical elements, and ¥ is a
?

relativistic quantum number describing the quantum state of the free electron

(*L)

T
emitted from the atom during conversion., The quantity Mi x includes the sum
\j

of the radial integrals R1 - R6 in the form
-
. 2
£ ~ SFX—F‘X““ Jl“ , (2)

E, is one of the relativistic radial electron wave functions f(r) or g(r)
for the final (free) state of the electronm, Fi is one of the fumctions of
the initial (bound) state, Xv is the radial part of the transition potential

(see below), andV = Lorv =L - I,

The functions f(r) and g(r) were found by numerical integration of a
set of two radial differential Dirac equations for the spherically symmetric
potential V(r). As V(r) use was made of the atom field potential self-
consistent wnder the Hartree~Fock-Slater (HFS) method, Exchange in the HFS
field is accounted for by means of the local exchange potential [17].

Y
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where Q(r) is the total spherically averaged electron density
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Summing is carried out over all the occupied electron states of the atom,
and the coefficient C in Eq. (3) was assumed equal to wity, J is the
degree of ionization of the atom, and a = ez/h C. Self-consistency is
included in the ICC calculation program [10].

The wave functions for the bound electrons were calculated in a neutral
atomic field, while those for the free electrons were calculated in a self-
consistent ion field with a hole in the shell or sub-shell from which the
conversion occurred., We should point out that this method of calculating

wave functions for a conversion electron is important when computing ICCs



for conversion from internal atomic shells at low energies [18]. For high
values of r, when calculating all electron functions, both for the initial
and final states, the potential V (r) was assumed equal to - a/r. The
finite dimensions of the nucleus were calculated with a spherical nucleus
model with radius R, = 1.2 Al/3

0
effect of the finite dimensions is taken into account by calculating the

fm (A is the mass numnber). The static

electron wave functions in the field for uniform electric charge distribution
over the nucleus, The dynamic (or penetration) effect is taken into account

on the basis of Sliv's model for surface transition currents, i.e. the radial
part of the tramsition potential X, = h, (kr) is replaced by jv(kr)hv(kRo)/jv(kRo)
at r <:RO,

where jv(kr) andfhv(kr) are spherical Bessel and Hankel functions,
respectively, and k = EY/mc2 is the gamma transition energy in relativistic

units.

The total free electron energy during conversion from the i-th shell

.=k-€.4+1
By =k-g, (5)
was calculated by means of the experimental values [19] of the electron
I and

L shells at Z < 10, when the computed eigenvalues of the energy were used.

III
For Z > 10 the tables contain the ICCs for filled K-, LI—, LII—’ and LIII_

shells, For Z = 3 the ICCs on the LI—shell are given with allowance for the

binding energy € ; on the atomic shells, with the exception of the L

fact that lithium has only one 2s; electron, i.e. @ calculated from the
2
I

normal equations are divided by 2. For Z = 6 we give @ and @ .
I

As is known (see, for example, Refs [14-16]), the theoretical equations
for the ICCs are derived on the assumption of the following conditions: a
first non-vanishing order in the perturbation theory, a one—electron approximation,
and a free neutral atom with a spherically symmetric potential., Possible

deviations from these conditions were not taken into account.

The numerical methods used by us to compute the ICCs and all aspects of
the programs are described in detail in "The relativistic atom; interaction

betveen electromagnetic radiation and nuclei and atomic electrons" [10].



The relative error in computing the internal conversion coefficients is
less than 0,1%. Hence in the Tables, which are given here to three significant
figures, the error is equal to half the last digit. The given accuracy (0.1%)
does not include possible deviations due to the above—enumerated approximations
of a physical rather than theoretical nature, In all there are about 15 000 ICCs
in the Tables,

Comparison with previous calculations

A comparison with Ref, (9] shows that for 2 < 20, the approximate ICCs [9]
in the K- and LI—shells accord quite well (with an accuracy of 5-6%, dis-
regarding fluctuations due to rounding off in Ref. [9]) with the more exact
calculations; the ICCs taken from Ref, [9] for the Ly~ and Ly -shells are

I III
up to 30% too low,

When comparing them with Ref, [13], in which the ICCs are given for
higher energies and Z > 16, we can see that for the K-shell they tally with
the given calculations to within 1.5%. For the L-shell Ref, [13] does not

contain any ICCs for Z < 30.

A comparison with Coulomb relativistic calculations [7, 8] for Z = 10,
15 and 20 shows that the difference is virtually the same for all energies
EY > 150 keV and multipolarities. For example, all the ICCs [7, 8] for
Z = 10 are 6.5 + 0.%% higher than those calculated by us., There can be no
doubt that this is the result of disregarding screening in Refs [7, 8].

Comparison with non-relativistic calculations which disregard screening
for the K-shell [4] shows that in the case of relatively low energies
(15-25 keV) the ICCs [4] differ from those calculated here by up to 10% at
Z = 10 (greatest difference in EI) and up to 25% at Z = 20 (greatest difference
in E5). Apart from disregard for screening in Ref, [4], the difference, even
at these Z and energies, may be associated with relativistic effects., For

example, the ratio a /aL y according to exact calculations, is not equal
I "II

LII

to 2, as would be required by the non-relativistic ICC theory.



For one of the Z values given in the tables (% = 30) one can make a
comparison with the internal conversion coefficients of Hager and Seltzer [3].
For this Z our ICCs are 0,5% higher than those given in Ref, [3] for the
K-shell, Any deviation from this 0.5% difference can, in the case of the
K~shell, be attributed to rounding off the numbers to three figures in all

the tables., For the L.-shell our ICCs are 1.9% higher than a, [3], with the

I L

I
exception of the transitions of the lowest electric multipolarity energies,

for which aLI vanishes in the non-relativistic approximation. In this region

the extremely small absolute difference in radial integrals (.S1%) or slight

shift in binding energy (& 5 eV) may produce a relative error of up to 3%.

In the LII- and LIII—shells the difference in the ICCs is equal to 3.2-4.1%

(the ICCs in Ref. [3] are smaller than those calculated here). The reason for

the difference from Ref, [3] was carefully investigated, It turned out that

the chief factor was variation in the constant C in the expression given above -
(3) ~ for the exchange number of the HFS potential. In Ref. [3] C = 2/3,

while for us C = 1. Special calculations made by us for this particular case

with C = 2/3 showed that the ICCs, when calculated in this field, coincide very

well (with accuracy better than 0,5%) with those in Ref. [3]. We should point

out the following fact in this connection: as is known, when a self-consistent

atomic field varies, variation in the ICC in the i-th atomic shell can be fairly

accurately calculated [6, 9, 18, 20, 21 ] by the following equation

1 '2)
o 2 um [ /870y ],
¢ r+o0 (6)

(1) (2)

in two spherlcally symmetric atomic fields, and.Q(I)(r) and Q( )(r) are the

where .l and a.”" are the ICCs of the given multipolarity, as calculated
densities for the corresponding (i-th) electron in these fields. Table 1 gives
the deviations between the ICCs taken from Ref. [3] and our own data for the
LII-shell Z = 30, and, for purposes of comparison, the electron density ratios
2p1 in relativistic self-consistent HFS atomic fields with coefficients C = 2/3
and C =1 in Eq. (3). The table shows that the figures taken from Ref. [3] and
adjusted in accordance with Eq. (6) coincide with an accuracy of up to 0.5% with

those calculated in the present work.,



The slight deviations are due to the fact that we rounded off the data

to three figures in all the tables, and are also caused by the inaccuracy of

Eq. (6).

Table 1

Difference between the Hager and Seltzer [3] internal conversion
coefficients (ICC) and those computed by us for Z = 30, and a comparison
of this difference with that of the corresponding electron densities @(r)
close to zero for two values of the constant C in the HFS potential exchange

t . H
erm (see Eq. (3)); a(g pap) 308 % (1) denote our own ICCs and those taken
from Ref, [3], respectively.

(o (B,14T) /b (8S)-1) - 100%

Z =30; L= shell
TE],KBB:H:I‘E:EB:M:M[:MZ:W:M:
[ P i | i ! i i
151 3,2 !3.6 13,2 13,2 13,813,73,212,8
150 | 3,5 | 3.8 a7 a1 I3, { 3,8 13,3 i‘a,s
30} 36139 |39 |39 3613738 | 3,7
1000 3,8 13,9 13,4 139 {37]3,8]3,5]3,8

(Ca’l) (C: 2/5)




Internal conversion coefficients in various self-consistent atomic fields and
electron densities for K- and l-shells close to zero

Although the eigenvalues of the energies found with coefficient
C =1 in Eq. (3) are closer to the experimental binding energies than
those with C = 2/3 [19, 22, 23], it is normally considered that the wave
functions calculated with C = 2/3 are better, since they are somewhat
closer to the Hartree-Fock (HF) functions. A number of investigators [23]
consider that the optimum value of C is somewhere between 2/3 and 1. Tt
should be borne in mind that the HF electron wave functions with which we
are comparing the HFS wave functions with € = 1 and C = 2/3 are themselves
approximate, They do not take into account the inacdequacy of the one~electron
approximation or deviation of the field from spherical symmetry, which in the

case of atoms with small Z and unfilled valence shells may be considerable,

So as not to have to recalculate the ICC tables whenever the atomic field
is refined, we show below Table 2, which contains values proportional to Q(r)
close to zero, with which the coefficients can be found, on the basis of
Eq. (6), for the particular field considered optimum on a given day, or for
any other self-consistent field. In particular, Table 3 enables us to calculate
the ICCs in an HFS field with C = 2/3 quite easily.



Table 2

The values N, (see BEq. (7)), proportional to the electron densities
close to zero in a relativistic HFS atomic field with C = 1 (Eq. (3)) for
K=y Ly=y Lpp~ and Lppp
magnitude by which the digit standing alongside has to be multiplied (Ni

-shells and Z < 30, The brackets show the order of

is given in atomic wmits).

SHEVLL
Z
w L‘I. L—‘i L@

3 9,275 (I) 2,719 (0)

6 8,018 (2) 4,277 (1) :

10 3,909 (3) 2,295 (2) 1,194 (-I)] 9.685 (2)

14 1.125 (4) 8,213 (2) 1,074 (0) { 8,530 (3)

15 1,402 (4) I,06I (2) 1,646 (0) | 1,299 (4)

16 1,724 (4) 1,348 (3) 2,443 (0) | 1,915 (4)

I7 2,094 (4) 1,685 (3) 3,530 (0) | 2,747 (4)

18 2,519 (4) 2,078 (3) 4,982 (0) | 3,849 (4)

I9 3,006 (4) 2,538 (3) 6,903 (0) | 5,290 (4)

20 3,558 (4) 3,068 (3) 9,402 (0) | 7,146 (4)

21 4,179 (4) 3,675 (3) 1,262 (I) | 9,509 (4)

22 4,879 (4) 4,369 (3) 1,670 (I) { 1,248 (5)

23 5,662 (4) 5,I55 (3) 2,183 (1) ! 1,6I6 (5)

24 6,540 (4) 6,047 (3) 2,84 (1) { 2,070 (5)

25 7,515 (4) 7,046 (3) 3,610 (I){ 2,620 (5)

26 8,60I (4) 8,I73 (3) 4,578 (I) | 3,289 (5)

27 9,800 (4) 9,429 (3) 5,754 (I) | 4,090 (5)
L 28 1,114 (5) 1,084 (4) 7,18 (1) | 65,048 (5)

29 1,259 (5) 1,240 (4) 8,894 (1)} 6,183 (5)

30 1,421 (5) 1,414 (4) 1,004 (2)] 7,519 (5)




Table 3

The ratio NEC = 2/3)/N§_C = 1) (for Ni see Eq, (7)). To obtain the ICCs
in a relativistic HFS field with the coefficient C = 2/3 in the potential
exchange term (see Eq. (3)), we multiply the ICCs derived from the tables in
the presen! paper by the figures in this table for the relevant 2 and shell.

rz SHELL
YA
K Ly Ly Ly

3 | 0,898 0,969

6 0,953 0,896

10 0,973 0,946 0,347 0,847
14 0,981 0,953 0,909 0,909
15 0,982 0,956 0,916 0,916.
16 0,983 0,959 0,923 0,923
17 0,985 0,962 0,928 0,928
18 0,986 6,764 0,933 0,333
19 0,986 0,965 0,936 0,936
20 0,987 0,967 0,940 0,940
21 0,988 0,969 0,943 0,943
22 0,988 0,971 0,946 0,946
23 0,989 0,976 0,949 0,949
24 0,989 0,976 0,954 0,954
25 0,989 0,975 0,954 0,954
26 0,950 0,976 0,956 0,956
27 0,990 0,978 0,953 0,958
28 0,990 0,979 0,959 0,959
29 0,991 0,980 0,961 0,961
30 0,991 0,981 0,963 0,963

= - —— e —— =T
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Having calculated the electron densities close to zero in the relativistic
HF field, we can then compile, with the aid of Table 2, a table similar to
Table 3, and calculate the ICCs in the HF field.

The Ni values given in Table 2 are linked in the following manner with

the electron density close to zero,

1-23
N;:Limq'fﬁ'-l" JP(\A).
t>o0 2 (7)
Eq. (7) reflects the fact that for any charge distribution over the nucleus

of finite dimensions

(r‘ ~ - 205-1
PO~ N e B, (8)

vwhere Ni is a constant,

In Table 2, Ni is given in atomic units. To transform it into

relativistic units we should multiply it by a29 * 2

Table 3 contains values equal to the ratios of Ni at C = 2/3 to Ni at
C=11in a relativistic HFS field, To obtain ICCs with C = 2/3 we have to
nultiply the figures from our tables by the figures in Table 3 for the relevant
Z and shells, Table 3 also illustrates the way in which the coefficient varies
when going from an HFS field with C = 1 to a field with C = 2/3,

Eq. (6) is approximately valid even for the valence shells of heavier
elements [18, 21], For the energy and Z region given in our tables the error
in Eq. (6) in the case of self-consistent fields is . 1%.

The authors are indebted to L,A, Sliv and I.A. Kondurov for their interest

in the work and for their useful observations.

, where a = ethc = (137.04)_1.
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Internal Conversion Coefficient (ICC) Tables

Explanation of tables

The tables contain internal conversion coefficients (ICC) for 20 atomic
numbers Z over the range 3 < Z =< 30, including all Z> 14, 10 multipoles
E1-E5 and M1-M5, 19 gamma-ray energies ranging from 15 keV to 6 MeV for the
K-shell, and 18 energies ranging from 15 keV to 2 MeV for three L-sub-shells.

Designations used in the tables

Z atomic number

K1 shell, L1 shell, etc, ICCs for the K-shell, the LI—shell and so forth

El, E2 .vse electric dipolar, gquadrupolar, etc., transitions

M1, M2 .... magnetic dipolar, guadrupolar, etc., transitions

EG energy of the gamma transition EY (keV)

EB electron binding energy for the given shell (keV)
Example

In the ICC tables for Z = 3, K-shell, the first two lines from the top

begin as follows:

EG El E2 o0
15 6.55E-02 5¢65E+00 4.4.

This means that for a nuclear transition with energy 15 keV the internal
conversion coefficient for the multipolarity El is 6,55 x 10—2, for the
multipolarity E2 it is 5.65, and so on.



€G

15
17
20
25
32
4o
50
65
go
100
120
150
200
300
450
650
1000
2000
6000

EG

15
17
20
25
32
40
50
65
80
100
120
150
200
300
450
650
1000
£000

E1

6,955E=02
€,30€=-02
2,48Em02
1,17E=-02
$,06E~02
2.37E-03
1,1€-03
4,56E~04
e, 26E=04
1,06F=04
$,77E~05
2.,74E~05
1,07E=0%
2. 97E~06
9,07E=07
3,%50E~07
1,33¢=«07
4,41€E~-08
1,15€~08

E1

9,58E~04
6,29E~04
3,64E-064
1.71E~04
7.41E-05
3,48E-05
1.63E-05
6,69E-06
3,31€e=06
1,56€~06
8,45E=-07
4,02E~07
1.57€~07
4,35€~08
1.33€-08
5,13E=-09
2,02€E~09
60“65'10

€2

3,65 00
3,29€E 00
1.63E 00
6.20€E-01
2.128=01
8.07Ew02
2,07E-02
9,86E-03
4,03€-03
1,55€=03
7.12E-06
2,78E~04
8,41E=0S
1,66E~05
3,65E~06
1,06E=06
3,11€«07
6,99E=08
1.36E-08

E2

8,23E=02
4,80E=02
2,38E~02
9,05E-03
3,10E-03
1,18E~03
4,49E-04
1,44E~04
5,90E=05
2.27€E-05
$,04E~05
4,07E-06
1,23E=06
2.43FE=07
S,35E=~08
1,56€-08
4,57E~09
1,02E~09

E3

4,10E n2
2,12¢ 02
8,99€ 01
2,77€ o1
?7.50E 00
2,31€ 00
7.12E401
1,79E-01
6,05E-02
1,90E-02
?7.42E-03
2.33E-03
5, 65E=04
8.01€E-05
1,30E~-05
2.93E-06
6,61E=07
1,08E-07
1,61€6-08

E3

5,95E 00
3,.08F 00
1,31 00
4,03E=01
1,09E-01
3,376~02
1,04E~02
2.62F=03
8 ,B6E-~04
2.78E~04
1,09E-064
3,49E~05
8.28E=06
1,17E=06
1,90E~07
4,29E~038
9.,69E=09
1,59€~-09

K1

L1

SH EILL

[ )

2.83¢
1,30€
4. 72F
1.17¢
2.52¢
6.28E
1,%7¢€
3,10€

B,64E"
2.21E~
7.35E~
1,94E-
3,616~
3.69E-
4. 42E~
7.80E-
1:.37€~-
1.66E~
1.90€=

04
04
03
03
02
01
01
00
01
01
0e
02
03
0é4
0S
06
06
07
08

SHELL

Ed

4.09E
1.88E
6.85E
1,71F
3.67€

9.16E~
2.29E~
4,53k -
1,26E~
3,24F~-
1,08€~
2.84E=
5S.28E~
S,40E=
6,47E~
1,14E~
2.,01E~
2.,43E~

02
02
01
01
00
01
01
02
02
03
03
04
05
06
07
o?
08
09

R 25,5000t =02 KEV

€3

1.92E
7.82¢
2.43€
4, A9E
8.29€
1.67€
3,.39E
5.24€
1,21
2.52€

7.12€-
1.55E=
2,256~
1,66E~
1.48E=
2,05E-
2.81€~

06
0s
05
04
0}
03
02
01
01
00
01
01
0¢
03
04
0%
06

2.53E~07

2,24E~

EB '=5,4957€-03 KEV

ES

2,76E
1.,13¢
3.51¢
7.08E
1.20€
2.43E
4L,94E

7.64E~
1,76E=
3,69E=~
1.04E~
2.,26E-
3.30€E~
2.46E-
2,17€=
3,00E~
4L,13E~
3,70€-

08

04
04
03
02
02
01
00
ot
01
02
oz
03
04
05
06
07
08
09

M1

2,85E-03
2,07€~03
1.37E«03
7.32€=04
4,228~04
2.42E-04
1.39€=04
7¢33E=~05

L,63E~05

2.59E~-05
1,68€-05
9,95E=06
S.13E~064
2.08E~=06
8,79F=07
4, 21E=07
1,839€E-07
6,01€E=08
1.34E-08

M1

4 ,17E=05
3,03€E-05
2.,01E=05
" 15E=05S
6,18€E=06
3,.55FE=06
2,04E-06
1,076=06
6,.49E«07
]oBOF“O?
2,46E~07
1,46E«07
?7.,52€E~08
3,05€~08
1,29€E~-08
6,17E=0%
2,77E-09
8,81E~10

M2

1,87€~01
1,21€-01
6,84E<02
3,156-02
1,34E-02
6,22E=03
2,91€-03
1,20€-03
5,98E-04
2,86E~0h
1,58E-04
7,69€-05
3,116-05
9,156-06
2.89Em06
1,09E-06
3,86E-07
9,20E-08
1,58E~08

M2

2,74E=03
1.77€E-03
1,00€-03
4L,61E~04
1.,96E=04
9,12€E~05
4,26E«05
1.75€E~05
8,76E-06
4,19E~06
2,31E~06
1,13€E=06
4,56E«07
1,34F=07
4,23E~08
1,60€E~08
5.66E«09
1.35€~09

M3

1,25E° 01
7.,12E 00
3,65F 00
1.28E 00
4,30F=-01
1,61E=-01
6,10E~02
1.96E~02
8,10€~03
3,16F-03
1,48E=~03

$.94FE=~04

1,89E~064
4,01€-05
Q.42F=-064
2.81E=04
7.84E=07
1.40E-07
1,86E=08

M3

1.82F=01
1,04E~01
5,05€E-02
1,87E=02
6,29€-03
2.36F«03
8,93c-04

2,88E~064

1,19E=04
4,63E=05
2.17F=05
8.71E~06
2.,76E~06
5,88E=07
1,38E~07
4,12E=08
1,15F=08
20096'09

MY

8,37 02
46,23E 02
1,75€ 02
5,236 01
1.38€ 01
4,20€ 00
1.28E 00
3.23%E~01
1,108-01
3,50E-02
1,39E-02
4,59€~03
1,14€~03
1.76E=04
3.07E-0S
?7.22E~06
1,%9E~06
2,13E~-07
2.19€~08

M4

1.22€E 01
6.19E 00
2.56€ 00
7.65E=01
2.03E-01
6,15E=-02
1,88E=-02
4,76E=03
1.61€E=-03
5.13E=-04
2.04E~04
6,73E-05
1.67E-05
2,57E~06
4,50E=07
1.06E-07
2,33€E-08
3.12E=09

MS

5.64E 04
2.,52F 06
8,91E 03
2.,14E 03
h,GLBE 02
1.10E 02
2.71€ 01
5,34€ 00
1,30E 00
3,88E«01
1.31E«01
3.56E=02
6.93E=03
?.69€E-04
1.00E=04
4.85E~0%
3.21€E~-06
3,22€~07
2,58€~08

M5

&,24€ 02
3,69E 02
1.30F 02
3.14F 01
6,55€ 00
1.60E 00
3,97E«-01
7.81€+«02
2,19E=02
5,69E=03
1.92E=03
5,21E=04
1,02E-04
1.13E~05
1,67E-06
2.72E=07
4,71:«08
4,73E-09
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50
65
80
100
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6000

EG

15
1?7
20
25
32
40
50
65
80
100
120
150
200
300

450

650
1000
2000

E1

4,38F-01
2,91E-0n1
1,71E~01
8.19€-02
3,62E=02
1,73E=-02
8,21€E-03
3,426-03
1,716-03
8.16E-04
4, LrE=D4
2,16E-04
8,43E-05
2,37E-05
7,336-06
2,85E-06
1,12E-06
3,955E=07
9,29E-08

[

2.30€-02
1,53€=02
9,00E~03
6,33E-03
1,92E-03
9.15E=04
4,36E-04
1,B2E-04
9,11E=05
4,34E-05
2.37E-05
1,14E=05
4,49E-06
1,27€-06
3,91E=-07
1,52€-07
&6,00E~08
1,91E~08

E2

3,51E
2.08F
1,05E
4,12F
1.45E

5.,63E=
2.18E~
7.16F=
2.97F~
1.16F~
5,38F~
2,12~
6,53E=
1.31€6~
2.92F~
8,61E~
2.55€~
5,75E=
1;11':."

£2

1.82€
1.08E

5.51E~
2,16E=
7.63E-
2.97E~-
1.15%5E=
3,80k~
1.58E-
6,15F=~
2.,86F~
1.13E~
3,48F~
6.97F~
1.56F-
4,598~
1.36E=-
3,06F~

01
01
01
00
00
01
01
02
02
02
03
03
04
04
05
06
06
07
07

00
00
91
01
02
02
02
03
03
04
04
04
05
06
06&
07
07
o

2,
1,
5.
1,
4,
1.
4,
1'
4,
1’
Sl
1.
“.
6.
1'
2.
5.
8,
1,

1 -
6'
2!
9.

2.
8,

at
6,
2'
7.
2,
9.
2,
3.
5.
1.
2,
[

6 X1 SHELL

E3 ta
36E 0% 1,52E O°¢
2SE 0% 7.17E 04
4LSE 02 2.69E 04
74E 02 b6.97F 03
87E 01 1,56F 03
Suf 01 4,01F 02
87E 00 1,036 02
26E 00 2,10F 01
33E~01 S,99F 00
3RE-01 1,57F 00
48E=-02 S5,29E-01

?78E~02 1,42F-01
30E~03 2,70E-02
23€~04 2,83E-03
03E=-04 3,4L6F-04
34E-05 6,23F~-09
LOF-06 1,12€-05
94E~-07 1,37F-06
32E~-07 1,57€-07

6 L1

E3

22F 02 7,
45€ 01 3,
83 01 1,
nSE 00 3,
SSE 00 8,
10E-01 2,
57E-01 5,

SHELL

E4

P4LE
67¢€

38E.

61E
12E
10E
L2E

65E~07 1,11F
29E~02 3,17E=01
33€-03  8,30E=02
91E-03 2,81E-02
47E-04 7.55E=~03
29E=04 1,43F~03
32F=-05 1,50E~04
L7E-0A 1,8LFE-05
26E~04 3,32E-006
RRE=07 5.95£-07
77F-08  7,33(-0%

o3
03
03
02
01
01
00
00

EB =2 ,8400E-01 KEV

ES

9,63E
4,04
1,31F
2.76E
4 ,90F
1.03E
2.15€
3.44F
8,13¢E
1,74E
5.01E
1,11€F
1,65F
1.2¢6¢
1.,15¢
1.42€
2,28BE
2.10E
1.85E

€ER 41 ,7853F=-02 KEV

2,65E

06
06
06
05
04
06
03
02
01
01
00
00

-01
-02
~03
=04
=05
-0eo
-07

-01

5.8LE~02

8.78¢E
6,69E
6,10€
H,64LE
1,22¢€
1.12E

-03
-ng
-05
-n6
-06
-07

M1

2.816=02
2.02F=02
1,32E=-02
7,42E=03
3,94F~-03
2,23F=-03
1,27€-03
6,63E=04
3,97E=04
2.3%310L-04
1,49F=04
R,76E-05
4, 49F =05
1,80E=05
?7.56E~06
3,59E=-06
1,60E-06
4,99E~07
1,09F=07

M1

-a

[V ¥ ]

-0
1. -0
7.,07E=04
3,96E«04
2,10E~04
1.19E-04
6,80E«05
3,54E-05
2,12E-05
1,23€-05
?.95E=06
L,63FE=06
2,L0E~006
9.,62E=07
4,03E-07
1,92E«07
8,51F=-08
2,66E-08

Q W
o O
m m

M2

1,80F 00
1.15€ 00
6,43Fe01
2.91E~01
1,22E=01
5,62F=02
2,60€~02
1.06E~-02
5,28E-03
2.51E~03
1.38(=03
6,71F=04
2.71E-04
7.92E~05
2.49F-05
9.3%3E~06
3,30E~06
?7.74E-07
1.30E-07

M2

9,70E=0
+18F=0
3.45E~02
1.56E-02
6,55E6=03
3,01€-03
1.39E-03
S.HBE=04
2.825-06
1,54E-006
7,37E-05
3,58E-05
1,45E=05
4.,23E-06
1.33E~06
5,00E~07
1.76€6-07
4.13E-08

o

[e R
mrmn
~N oD

M3

1.,16F 02
6,58F 01
3,15 01
1.15E 01
3.83€ 00
1,43E 00

5,36E=01

1.72€-01
?7.04F~02
2, 764E~02
1,28E-02
5,13F~03
1.63€-03
X,458-04
8 _11F-05
2.,42FE~05
6,73E-06

1.19E=06

1.54€E-07

?2.87€~02
9,19E=03
3,77€E«03
1,47E-01%
6,B5€E~04
2,74E=04
8,69FE=-05
1.84E~05
4,33E«06
1,29F-06
3,59E=07
6,34E-08

M4

7.57E 03
3.80F 03
1.56€ 03
4,67E 02
1,21E 02
3,65E 01
1,11 01
2.79E 00
9,65FE~01
3,00E~01
1.19£~-01
3,946E-02
9.78€-03
1,50€=-01%
2.6LE-04
6,20E~05
1.36E-05
1.81E=-06
1.83€E-07

5.54E 00
1,97E 00
5.97E-01
1.49E~01
5.06E=02
1.61E~02
6,38E-03
2,10E~03
5.23€-04
8.04E~05
1.,41E£-05
3.31€-06
7.,27E-07
9,67€~08

M5

4,96E 05
2,21€ 05
T.76E 04
1,86E 04
3.85E 03
9,38E 02
2.31€ 02
4.954E 01
1,278 01
3.30E 00
1.11€ 00
3.02E~01
S.89Ee02
6.956E~03
8,55€=04
1.59E~04
2.75E«05
2,76E=06
2.16E=07

M5

Z.77E U4
1,22E 04
£ 27€ O3
1,01€ 03
2,09E 02
5,07F 01
1,25E 01
2.,44LE 0O
6,82€=01
1.77E=»01
5,96E=02
1.62E=02
3,15E-03
3,50E=064
4,57E=05
8. 47E=06
1,47E«06
1.47£=07
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15
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50
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EG

15
17
20
25
32
L0
50
65
80
100
120
150
200
300
450
650
1000
2000

E1

1,258 00
1.04E 00
6,24E=01
., 068-01
1,38E«01
6,73E=02
3,26E-02
1,%8E-02
?7.02E-03
3.396=03
1,R7€E~0%
9.,09E=04
3,63E~04
1,04E=04
3,25E~=05
1,28BE=05S
$.06E=06
1,60E=06

4 ,11€=07

E1

8,71E-u2
5,89E-02
3,54E=02
1,75¢=-02
?7.94E-03
3,83E~-03
1,B8E=0%
8,036-04
4,0BE=04L
1,97E=064
1 .09E-06
5.31E=~05S
e,12E-~05
6,08€=06
1,91E=~06
7.48E=07
2,96E~07
9.40E~-08

E2

1,11€E o2
6,7%E 01
3.51€E 01
1.642F 019
5.17¢ 00
2,06F 930
8,21F=01
2.77F=01
1.,17F£-01
4L,6LF-02
2.19F=02
R,77E-03
?.,74E=~03
5.626-04
1.28F=-04
3,83F=05
1.15€~05
2,61€=06
4,97€-07

F2

6,12E 00
3,74F 00
1.96F 00
7.99€-01
2.93E~01
1,18€E~01
4,71F=02
1,60E-02
6.76FE~0)
2.69F~03
1,27F~03
5.11E=04
1,60E-04
3.298«05
?.49F~06
2.24F=06
6.?24FE~07?
1.53€=07

€3

6,67t
3,64F
1,65E
5,69€
1,61E
$,29€
1,73€
4,62E
1,838

5,33E~
2.15E=
7. 13E-
1,76E=~
2,62€E-
4. 43E-
1,04Fw
2,43E-
4,09E=
5,07E-

E3

3.60E
1.98¢
9.05E
3,05€
9,0¢tF
3,00€

9 AS5E~
2,656~
9,319E~
3,03E~
1,24E~
4, 14E=
1,03k~
1,53E-
2,59€-
6,08E=
1,63k~
2,40E~-

<1

0y 3,
03 1,
oy 7,
02 2.
02 4,
01 1.
01

00 7.
00 2,
01 5,
01 2.

3.

SHELL

L4

83
83¢
LOE
03¢
81F
30F
L7
36F
16F
82¢F
01F

0§

05
04
Ou
03
03
02
01
01
00
00

02 S5,%1F=-01
02 1,07E-01
03 1.,17F=Q2
04 1,47E=03
04 2,72F=-v4
05 9,N01¢-05
0A 6,31F-06
07 7.14E-07

L?
02 2,
N2 1,
01 4,
01 1.
(V) BN
oo 7.
01 1.
01 4,
02 1.

SHELL

Ed4

02F
00¢&
00F
12F
67F
27¢E
96E
20E
24FE

04
04
03
03
02
01
01
00
00

02 3,35€E=01
02 1.,16£-01
0% 3.20E-0¢
03 6,25£-03
046 6.80F=04
0SS &.60E=-05
06 1.59E=-05
06 2,93F~06
07 13.70E-07

ER s8,6700E-021

£3

2.1RE 07
9.62E 06
3J.29F 06

7,44E 05

1,641€ 05
3.12€ 06
6.8¢E 03
1,15f 03
2,81 02
6,24E 01
1,84E 01
4,18E 00
6, 42E~01
S.,0FRE=02
4,80FE«0%
7.00E~04
1.02E=04
9.65E=06
8,50€E=07

ERA 34 ,5000F~02 KEYV

£S5

1.,13E 064
S,04E 05
1.75E 05
4.03€ 064
7.78E 03
1.74E 03
3.85E 02
6,53E 01
1,616 01
3.958E 0O
1,06E 00
2.61E=01
3;73€=-02
2.9hE=03
2.80E~-04
L,10E=-05
5,96E=06
5,66E=07

MY

1,66EBw01
1,18F=01
7.,60FE=02
4,17€=02
2,17E=02
1.21F=02
6,77F=03
3y46F=03
2,05E~03
1,18¢=03
7.94F =04
L,40F~04
2,23F=04
R.B3FE=0S
3,66E~05

1.72E=05

?,52E=06
2,30E=06
L,ABE~Q7

M

9.81€~03
6.,96E~03
4,47E=03
2. 45E=03
1,27€~03
7,09E~04
3,98E-04
2,03E=04
1,21E-04
6.92F«05
4,43E=05
2.58E~05
1,316-05
S.18E=06
2.,14E«06
1,01€=06
4,41E~07
103SE'07

KEV

M2

1.05E 01
65,58F 00
3.62F 00
1.60F QO
6,59E=~01
2.78E=~01
1.36E=01
S,46E~02
2,68E=02
1,27EmQ2
6,91€«03
3.34F~0%
1.34E~-03
3,88FE~-04
1.21E=0¢4
4,53E«05
1,58€-05
3,63E~06
$.,90€E~07

M2

6.43F=01
4,02F~-01
2,19F~01
9,66E-02
3,.94FE~02
1,77E=~02
8.,05F~03
3,23E~03
1.59€E=-03
7.46E-04
L, 07E=04
1,97E~04
7.B?E~0S
Z.ZBF-05
?7,11E=06
2,66E=06
9.26E~07
2,13E~07

M3

6,62€ 02
Y,60E 02
1,70F 02
6.14€ 01
2,00F 01
7.36F 00
2.73F 00
8,64E=01
3,52F~01
1,3646=01
6,32E~02
2.52F-02
?.95€=-03
1.68FE=03
3,96F«0Q4
1,17E%04
3,24F-05
$.63F~06
7.07E=07

M3

4,13F 01
2,29E 014
1.07F 01
3.79E 00
1.,22F 00
4 ,45FE=01
1,66E~01
S.16E=02
2.,09F=02
8.,06F~03
3,74F=03
1,49E=03
L,69F=-04
9,89F£~05
2.31€E=-05
6,87F~06
1,90F=06
3,31€=07

Mé

3.96E 04
1.98€ 04
8,07E 03
2,378 03
6.15€ 02
1.848 02
S.S56E 01
1.38 01
4,64E 00
1.67E 0O
5., 8B1€E=-01
1,97€=-01
4 ,724E=02
7,27E-03
1,27E=-03
2,99E~04
6.57E=05
8,65%E=06
8,45E=07

M4

2.68E 03
1.32F 03
5.,25F 02
1.5%1€ 02
3.83E 01
1.13¢ 01
3,3%7€ 00
8,29E~01
2.78E<-01
8.74E=02
3.45€E~-02
1.13k-02
2.830€E-03
4,28E-04
7.49E-05
1.76€~05
3.86E~06
5.08€=07

(]

2.45E% Q6
1,70E 06
3.,85€ 0S5
9.19E 04
1,90€ 04
L,60€E 03
1.,13E 03
6,158 01
1,59E 01
S.36F 00
1,459 00
2.83E=01
3,175Fw02
4.11E-03
7.64LE=04
1.33E-04
1.32E=05
1.01E~06

MS

1.75E 05
7.63E 04
2.60E 04
6,02F 03
1.21E 03
2,88 02
6,968 01
1.34E8 01
3,71t 00
9.53£~01
3.20F=01
B.6LE=02
1.656FE=02
1.86E-03
2.4L2E-04
L, LRE=OS
7.80E=0¢
7.75€=07
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EG

15
17
20
25
32
40
So
65
80
100
120
150
200
300
450
650
100¢
2000

1
)
3
1
A
1
7
2
1
&
4
8
e
5
1
A
9
1

2

1

6
2
9
3
1
5
2
8
A
1
5
1
3
1
3

7.

E1

,O08E~03
,91E=04
J3LE=-04L
L34E~-04
,B83F=-05
.92E=05
JH3E=Q6
,59E~06
.10FE=06
,43E~07
.12E~-07
GH6E~08
JBOE=-08
L99E~09
V39E-09
LO07E=10
.10E-10
,BLE=11

E1

J12E=03
,27E=-012
WS1E~064
L60E=04
J3I7E=-05
L72E=05%
LLBE-05
LOOE~06
L13E=06
L60E=Q7
L13E~-07
LT0E=07
LS9E~08
L25E~ 3
JABE=09
L,03F=n9
L27E=-10
hot—11

E2

2.63E-01
1,37€-01
5.88F~02
1.84F=02
5,09E-03
1,60€6-03
5,04F=04
1,30F-04
4,50E=05
1.45€-05
5.80E-06
1,91F-06
4,77€6-07
6.,97E~08
1.14F=08
2.4RE=00
4,82F=10
5.11F=11

2,91€~03
9.02Ff-04
2.25F=04
7.72F=05
2,43F~05
9, LB8FE=06
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" 7,90€~04

3.,89E=04

1,77€-04

8,68E~05
4,26E~05
1,85E£~05
9,54€-06
4,71E~06
2,.66E~06
1,33FE=06
$,50E=~07
1,65€E=07
5,25€=08
1,99E-~08
?7.09E-009
1,74F=-09

M2

5, 69€~01
3.36E~01
10695'01
6,.60Fn02
2.33€~-02
9.07E~03
3,54FE-03
1,17€E-03
4,90F~0h
1.93E~04
9,04E~05
3,60E~-05
1,11€E-05
2,20E-06
5,596-07
1,17€=07
2,58F~08
2.79E-09

M2

9,05E«01
& ,96En01
2.26E~01
7,78E+02
2,41E«02
8,406E«03
2,99F=-03
8,91E-06
3, 45E=04
1,26E=04
5,58E~05
2,08E~05
S, 90FE=06
1,09€-06
2,17E=07
5,55E~=08
1.34E-08
2.19E~09

M3

5,85¢F 01
3.08E 01
1.338 01
4,23F 00
1.1t 00
3,76F-01

"1,19E~01

3.70F-02
1.07F~02
3.L6FE=03
1,38E-03
4,51E~04
1,09E~04
1,56F=05%
2.478-0¢0
4,80F~07
R,18€=08
6,38E-09

M3

2,16F 02
1,02%F 02
3,86 01
1,03E 01
2,43E 00
6,66E~01
1,R5€-01
4 ,17€~02
1,30€~02
3,75€E~03
1,386=03
4,10F-04
8,83E~05
1,07E~05
1,42E=06
2,49E=07
3,81F=~08
31.30€E~0¢9

MY

5,29F 03
2.4L8E 0%
9.28¢ 02
2,40E 02
S.36E 01
1.3R€ 01
3.57E QO
?7.31€=-01
2.10€E-01
S.53E~02
1.88E~02
5.07E~-03
9.65E~04
9,96E-05
TL14E~03
1.78E-064
2,37e-07
1.356~08

M4

2.95E 04
1.238 06
3,99 03
8,60E 02
1.59E 02

. 3.53E 01

7.91€ 00
1,39€ 00
3,57E~01
8,40E~02
2.61€E-~02
6.,37E-03
1.07E~-03
9.26F-05
8,90E-06
1.18E~-06
1.29€~C7
6,13FE~09

M5

4L,45E 05
1,86F 05
6.00F 04
1.26E 04
2.25E 03
4.73F 02
Q.96EF 01
1.61E 01
3,82€ 00
Bg.25F~01
2.39E=0"
5.32E~02
7.94E~-03
5.94Fe04
5,06E=05
6,226~006
6,47E=-07
2,71E~08

M5

3,25E 06
1.21E 06
3.36E 05
5,85E 04
8,60F 03
i.548 03
2.81E 02
3.87E 01
8,19 60
1.58€ 00
4,17E~01
8037E"02
1.10E=02
6,92E=06
4L.,94E=05
5.12E=06
61295'07
1.29€«08



EG

s
1?7
20
25
32
“0
50
65
80
100
120
150
200
300
450
650
4000
pooo
$000

EG

15
17
20
25
32
b0
S0
65
80
100
120
150
200
300
450
650
1000
2000

&
F1

S,353€ 00
Y3, B1E 00
2,3%4F 00
1,19€ 00
5,60F=01
2.831F=01
1,40E=01
6,1%E~02
3,19E~02
1,58E-02
8,B8E«03
b ,01k-03
1,80E-03
S.34E~-04
1,72E=-04
6,85E-05

2,73€-05

R,60E=Q68
2,15€F~06

£1

4,03E~-01
2é81E-01
1,75€=01

9,03E«02

"4 ,30E=02

20 18E"02
1,10€=~02
61875‘03
2,55E-03
1,27€~03
?7,15€-04
3,56E~04
1,46E~04
60355‘05
1,40€E~05
5,61€E~06
2,26E06
?7,05E-07

k2

2,9%F 02
1.,91F 02
1,05F 02
4,55€ 01
1.788 01
?.488 DO
1,126 00
1,11F 00
4,85F-01%
2.,00F=01
9,66F=02
3,99Fk~-02
1,29€-02
2.76F=~03
H.54E-04
2,03F=04
6.26E-05
1.L4LE=05
2, 67F=06&

k2

2.09E 01

1.35F 01

?7.53€ 00
3,34 0D
1,33F 00
S,69F~01
2.41€~01
8,64F~02
3,82f=-02
1,58FE-02
?7.71¢~-03
31,20F=03
1,04E~03
2,25E-04
8.,34E~05
1,.66E-05
5,14E=06
1,186~06

F3

1,%2¢ 0o
?.72RF 0}
3.86F OR
1,43E 01
4,65k 02

LYL65F 02

<1

SHELL

ta

5,A0F 05

3.07¢ 05

5,77 01

1,668 01
6,13€ 00
2,10E 0o
8,77t«01
3,0%E-01
7.R2E=07
1,21E=02
2.70£-0%
S,3RESDG
1,3%2E~04
2,30E=-05
3,27E~0Q0h

F3

8 ,ALE 02
S,21E 02
2,64E 02
1,01E 02
3,37 01
1,228 01
4,35¢ 00
1,27E 00
4,76E€-01
1,A5E-01
6,93g-02
2,01E-02
6,28E-03
9,99E-04
1,79E-04
4 ,L0E=05
1,03E-05
1,89€=06

L1

1.37¢ 06

4,348 04
1.17¢ 04
I.69F 03
1.02F 03
2.3¢F 02
7.3H8E 01
2,11F 01
7.58F 00
2.18¢ 00
4,50F=01
S.240F=02
7.00F=-03
1,38F=03
2. 69F=064
1,57£-05
1.95F=06

SHELL

ta

3.34E 04
1.89E 04
8,74€ 03
2.91F 03
R.18¢ 02
2.51E 02
?7.51F 01
1.73F 01
S.64F 00
1.63F 00
5.,93FE=-01
1,73E~01
1,60F~-02
4,23F=03
5.74E=04
1.,13E=-04
2.21F=05
2,9UE=06

FR a3 2030F 00 KbV

FS

2.3VE o7
1,21 o7
4,83E 06
1,31€ 06

2,92k 05

7.318 04
1.7RE 04
J.33E 03
B,7¢E 0?7
2.0RE 02
6,45F 01
1.5%¢ o1
2,.955F 00
2.10E=01
2,23E=02
3,67E-01
S,L0F~04

3 ,4RE=05

4,81F£-06

L}

1,34F 00
1.07F 00
6, T1E=01
3,56E=01
1,74F=01
Q,h63F=~02
S.24E=02
2a60F-02
1,50F=07¢
B,4LF=03
S,30F«=0%
3,03E-03
1,50F=03
5.77F«04
2,32E=04
1. UbF=04
4,50E=0%
1,11E~n%
2,61£=06

ER 23,2000E~01 KEV

ES

1,22E 06
6,64F 05
2,B5E 05
B,25E 04
1,9¢€ 064
S.0RE 03
{1 ,28E 03

2,46E 02,

6,60E 01
1.59E 01
4,99 00
1,22¢ 00
2,02E=01
1,76€=02
1.81E-0%
2.RUE0L
L, 44F=05
4L,51E=-06

M1

1,27E=01
B,36E=02
5,56F=02
2,95F=02
1.47F=02
7.95E-03%
4,33F-0%
2,14E=03
1.26F-03
H,95F=04

L. 36E~04

2.49F=04
1,23F=04
4, 74F=05
1.721E=-05 "
8,72E=06
3,70E=06
1.08FE=06

2

9,56F 01
5.R9F 01
1.15F 01
1.35FE 01
S.,33%F 00
2.43F 00
1.,03F 00
4,02FE~01
1.93F=01
8,91Fe02
L,79F~02
2.27¢=02
8,94FE-03
2.54KE<03
7.78F=04
2,86F~04
9.76E«05
2,16F=05
3.,29F=06

M2

9.32E 00
5,64F 00
2.96F 00
1,238 00
4,76t~01
2,05€-01
R, 94E=02
. 44F-02
1.h4E=02
?.51E=03
4,02F%03
1.90E+-03
7.63Fe04
2.10€-06
6, L3E~05
2,36€-05
8,04E=06
1,776-06

~y

4,91F 03
2., 76F 03
1,%F 03
4,65F 02
1,49F 02
5,39 01
1,96F 0°
6,07€ 00
2,438 00
9,25F=01
L,25F=01
1,678=-01
S,21F=02
1,09F~02
2,51k=0%
7,39E~04
2,02E=04
3,L2E=05
4, 00F=06

M3

5,91 02
3,17 02
1,42F 02
4,78E 01

1,46 01

5.08F 006
1.80E 00
S,L2€8-01
2,136-01
A,00F=02
3,6LE-02
1,62E-02
4,39Ff=-03
9,07F«04
2,09E=-04
6,12E~05
1,67F~05
2,81€E=~06

My

2.46E 05
1.27€E 05
$.31¢ 04
1,59E 04
4,18 03
1,25 03
X.?5E ne
9.23€ 01
J.08E 01
9,65F 00
Y.79E 00
1,268 00
3,04F~01
4,62E=02
R, 04LE~0D3
1,88€-0%
4,10E=04
5.31E-05
4, R6FE=06

M4

3,70E 04
1.77€ o4
6,B0F 03
1.86E 03
4,49F 02
1.27€E a2
3.64E 01
8,59F pno
2,80F 00
8,57€¢«01
3.32E~01
1,07E-01
2,59E-02
3,89E-03
6.72FE=04
1.57E«-04
3,40E~05
L,37E=~06

MY

1,23€ 07
§$,32E 06
2,17k 06
S.,48F 05
1,17 05
2.,90€ 04
?.20F 03
1,41E 03
3.9% 02
1,01E 02
1.40E 04
9,18€ 00
1,78F 00
1.97E=01
2.57F=02
4,77E=01
B.27FE~06
8. 14E=05
5S.87€m06

M5

2.33€E 06
9,R9F 05
3,27F 05
?.25€E 04
1.39E 04
3,18F 03
7.41F 02
1,376 02
3.69¢ 0%
9,2%E 00

"3.05€ 00

A8.07F~01
1,54€E~01
1,47F=02
2.,16£=03
3.98E~04
6.86E=05
6.72E~06



1= 18 L2 sheLL ER %2 4700€E=01 KEV

EG E1 E2 ES E4 ES MT M2 M3 MG MS

15 2,33E-02 7.34FE 00 1,43E 03 1,81€ 05 1,87€ 0?7 S,?71E=03 7,74E-01 7,88 01 ?7,06E 03 S,88¢ 05
17 1,44E~02 3,88F 00 6,62E 02 ?7,49F 04 6,8BE 06 3,82E~03 4,58E-01 4,16F 01 3.32E 03 '2,47E 05
20 ?7,68E-03 1.69F 00 2,45€E 02 2,37E 04 1.BHE 06 2,26E-03. 2.31E~01 1,81 01 1.25E 03 ?7.99F 04
25 3,22E-03 S,.43E~01 6,23E 01 4,90F 03 3,1¢E 05 1,10E~03 <9,03E-02 S,75€ 00 3,23E 02 1,69E 064
32 1,22€=-03 1,54E-~01 1,37E 01 R,56F 02 6,39F 04 6,92E~04 3,19E=-02 1,62E 00 7,26E€ 01 3.03€ 03
40 3$,06E~046 4,95€6=-02 3,52E 00 1,78f 02 7.47E 03 2,38E=-04 1.25E-02 5,14F=01 1,8%E 01  6,39E 02
50 2,09E~04 1,60F-02 9,05E-01 3.70€8 01 1.,2¢E 03 1,15€-04 4 ,87E~03 -1,63F-01 4.87¢ 00 1,3%E 02
65 7,37E-05 4,24E-03 1,85E-01 5.91€ 00 1,58& 02 4,91€~05 1,62E~-03 4, 26F-02 1,00 00 2,19E 01
80 3,24E~05 1,49F-03 5 ,31€-02 1,40F 00 3, 09E 01 2,30€E~05 &,78E~04 1,4RE=~02 2,83E~01 5,22E 00
400 1,36E=05 4,90E~04 1,40E-02 3,01E~01 S, 44E 00 1.21E~05 2.67E-04 4,77E-03 7.62FE-02 1,13E 00
920 6,56E=06 1,99E-04 4 ,78€E-03 8,69€=-02 1,33E 00 6.70E=-06 1,25E-04 1,91F~03 2,59E~02 3,28C(-01
450 2,75€-06 6,68E«05 1,30E-0% 1,94F-02 2,45E-01 13,26F«06 S5,01FE~-05 6,26t~04 7.,02€E-03 ?7,33E~02
200 ©9,16E-07 1,68F-05 .2,51E-04 2,91€-03 2.87t-02 1,30E=-06 1,55E-05 1,52E-~04 1,34E-03 1,10FE=02
300 2,04E=-07 2,56E=~06 2,68E-05 2,20E-04 1,57E~03 3,460E~07 3.0BE=-0b6 2,%RE-05 1,39E~-04 B.26F~=006
450 4,883E~08 4 ,29E=-07 3,18BE=-06 1,92F-05 1,01E=04 1,02E=07 6.44FE~07. 3, 37E-06 1,59€-05 7.06E-05
650 1,46E~08 9,43E~08 5,25E-07 2,43Fr-06 9,92E-06 3,39€E~08 1,65E=-0?7? &,74FE-07 2,50E~06 B,71E~-06
1000 3,97E-09 1,85€=08 7,59E-08 2.87F~07 8,38E=-07 ©9,71E=09 3,62E~-08 1,15€E-07? 3,33E-07  9,.08E=-07
2000 6,63E~10 1,96F=09 5 ,25E-09 1,2?FE-08 2,85E-08 1,51E~09 3.93E-09 B,99Q£-09 1,90E-08 3,82E~08

2 &8 1K L3 SHFLL EB a2 ,4500E-0T KEV
EG €1 E2 E3 k& ES M1 M2 M3 M4 M5
15 4,603Er02 1,36 01 2,61 03 3.29F 05 3,38 07  2,64E-03 1,328 00 3,21E 02 4,39E 04. 4,81E 06
17 2,73E«02 7,15F 00 1.20E 03 41.35¢ 05 1 ,23FE .07 1 ,78E-03 .7,48E=04 1,54%% 62 1.83E 0 1.7BE 06
20 1,06E=02 3,10 00 4,39E 02 4,23E 04 3,33E 06 1,06E~03 3,28¢E=01 S, 71 01 S.,91E 03 4,94E 0S5
25 4,08E~03 9,81E~01 1,10k 02 8,58F 03 5.50E 05 S,2hE=04 1,12E~01 1,528 01 1.27f 03  B,5RE 04

32 2,30E=03 2,756=01 2,38t 01 1,47F 03 7,47t 04 2,39E~04 3,647E=02 3,55FE 00 2,34E 02 ° 1,26E 0
40 9 ,6BE=-04 B8,68E=-02 5,96E 00 2.968 02 1,23F 04 1,17€E«04 1,21E=~02 9_,70F=01  5,14E 01 2.24E 03
S0 3,90Em04 2,74E=02 1,49€E 00 5,99 01 2,01E n3 5,77E=~05 4,27E~03 2,.68E~01 1,1S€ 01 4,07E 02
45 1,37E=04 7,09F«03 2,93E~01 9,16 00 2,41E 02 2,51€-05 1,27¢-03 6,01E~02 2,01€ 00 5,58E 01
80 &,01E=«05 2,44FE=0% 8, 11€-02 2,08€ 00 &,52E 01 1,30€-05 &,90E~04 1,87€E=02 S5,16€E~01 1,18E 01
100 2,49E~05 7,77E~04 2,05FE-02 4,25E~01 7,S52E 00 6.,42F=~06 1,?8F=04 5,38F-03 1,21F-0%1 "' 2,27E 00
420 1,22€-0% 3,07E~04 6,69E~03 1,17¥=01 1,75%E 00 3,63E~06 7 ,B7E~05 1,97F=03 3,74E=02 S,;9BE=01
150 S$,14E~06 9,97E~05 1,72€E=03 2,42F=02 2,97E-91 1,81E=06 2,93E~05 S5,85E=04 9,11E«~03. 1,20E~01
200 1Y.73E~06 - 2.39FE~05 3,04E<-04  3,27E~03 3,11E=02 7?7,.52E=07 8,40F-06 1,25€=-04 1,52FE~03 1,57E«Q2
300 3,99E~07 3,40F~06 2,.81E-05 2,08F=04 1,39F=-n3 2,26E=~07 1,52F«06 1,52E-05 1,.32E~04 ©,84E«04
450 1,02E«07. 5,43E~07 2,92E-06  1,50E-05 7.16E=-05 7.18E=08 3,01E~07 2.00£-06 1,26E~05 7,01E-05
630 3,36E-08 1.19E=07 4 ,38E=07 1,62F-06 S5.35E-06 2,73FE~08 7.68E~08 3,40F-07 1,66E~06 7.25E~06
1000 1,07€E~08 2,4BE~08 6,14E-0R 1,80F=07 4.253-07 9,706=09 1.85¢-08 S5,31E-08 1,81E~07 6,05€=07
2000 2.43Ee-n9 S, L7E~09 5,21E-n9 B,G1FE=09 1,45€-0B 2,37E-09 3.00E~09. 4,54F~09 8.51E«0% 1,80E=~08

-La'



EG

15
17
20
25
32
40
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65
80
100
120
150
200
300
450
650
1000
2000
4000

EG

15
17
20
25
32
&0
So
65
80
100
120
150
200
300
450
650
1000
2000

[

6.1%F no
4,29 00
2.,62E 00
1,34 00
6,31F~01
3,17t=-01
1,59t=01
?.00E=02
3,65E=02
1,R1E=02
1,02E=0¢
S, 07€«~03
2.0RE=nN3
6,18F=04
1.99E=04
?7,97E-05
3,19¢=-05
1,00E«05
2,4L9E=06

LA

4,53k~
3, 16E-01
1,98E=01
1,03E~01
4,93€=02
2,51€E=-02
1,27€=02
5S,65€«0)
2.,97€=03
1,4HE=0%
8,37€E=-004
4,18E-006
1.73E=-00

‘5,15E~nS

1.67E«05
6,68E=06
2,67E-~06
6\306"'07

b2

1,15F
2, 04F
1,1%€
4,97¢
1.95F

a,29F 00
N, 4BF

1.24F

S, L7F~
2.26E~
1,10F«
4,5uLF=
1,4KF~-
R ,1RE~
?.,57F=
2,35k~
?2.V0F=
1,68€~-
T,10E~

F2

2,24F
1,46F
R,23F
3.68F
1,4LRE

6.39F=
2,72F=
9,87¢~
4,38€~
1.8%¢€=
R,92F=
3,?2F~
1.22F=
2.64F~
6,.32€=
1,97F=-
6,13€E~
1.41€~
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02
02
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01

00
a0
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01
01
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o3
04
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05
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[y
0n
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01
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0e
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o
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0h
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05
06
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4

7

3
1
4
1
6
1
6
2
Q
3
]
1
2
6
1
2
3

8
5
2
1
3
1
4
1

S
1

7
2
7
1
2
5
1
2

E3

VIIE ne
LORE 03

LO1E 0%
LS1E 03
LO0E 07
L79F 09
LY2E 01
LR3E 01

.31k 00
JISE 0N
JASE~O01

JU2E-01

LARRE=N?
LG1E=02
JSYF-03
LP23E«Dy
LY3E=-04
LHYE=DS
JA2E=064

19

F3

J?7HE 02
J36E 02
L76E 02
.NBE a2
Lh0E 01
L34E 04
.R3E 0O
LW3IF 00
LIRE<N1
LARE-01
L23E-02
L?8E=02
LPREAD3
L178=0%
L11E=04

W21F=n5%

L29E 05

J26E-06

L]

L

SHELL

t o

S5.40F
$.01¢
1,37¢€
L, LNF
1.23F
3,70F
1,10E
2.57¢
A.09F
2.3%F
R,L3F
?.45F
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(R}
0
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07
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06

SHELL
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3,15¢
1.84F
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2.69¢F
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1.96F
b,28F
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&, 71F~-
1,97F=
b 13k~
4,92F-
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1.33E~
2.83¢~
3.52€~

b
qu
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b1
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03
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[sX}

ERo=3 AOXNE

(]

e,20F
1.,14F
4,68E
1,30€
2.99E
7.61F
1.A9¢F
3.57¢
9,49E
2,27¢E
7.10E
1,72E
2, RSE

2. L7E~
2,54t~
4,00k=
6. 28F=-
6,43E=
5.64FE-
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07
e
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05
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01
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s,
2.
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1 L]

2

L.
1.
N
7.
1.
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G XEV

MY

1E Q0
$3F Q0
50E~01
1gt-01
19F=01
18F=01
GUE=Q2
1aFwQe
32E=02
V12FE=02
LOF-03
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Y0F=-03
AYF=Q4
7AF=Q4
26F =04
J1F«05
S4F«05
Q4F=06

ER '3 ,7700F~01 KfV

t5

1.06E
5.99E
2.6HE
B.11F
1.99E
S.30F
1.30E
2.67F
7.,24F
1.77€
S,SERE
1.37E

2.,30F=
2.03E-
2.11E~
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1.02E~05
1,74E-06
3,86E~07
7,66E~08
8,10e~09

E2

4.66E 01
2,46E 01
1,07 01
3,L2E 00
9,67E~01
3,08E~01

9.,83E~02-

2,.57E=02
8,90E=03
2.86E-03
1,14E=03
3,72E=04
8,97E=0S
1,29E=05
2,07E~06
4,51E=07
9,41E~08
1.30E~08

= 23 L2 SHELL
E3 Eh
5,11E 03 &,26E 05
2,38 03 2.61€ 05
8,86E 02 B8,36F 04
2,2RE 02 1,75E 04
5S,09E 01 3,11F 03
1,32E 0% 6,53 02
3,42E 00 1,38E 02
7,07E=01 2.24F 01
2,05E~01 S,35E 00
5,46E=02 1,16E 00
1,88E=02 3,39E=01
5,16E-03 7,65€=02
1,01E~03 1,16E=02
1,09E~04 B8,97€~04
1,32E«05 7.94E-05
2,196-06 1,02F=05
3,20E~07 1,13E=06
2,?3E~08 5,46E=08
= 23 L3  SHELL
E3 X

9.14E 03 1,.11E 06
4,23E 03 4 ,60F 05
1,56E 03 1,66€ 05
3,93E 02 2,99F 04
8,58E 01 S5,18F 03
2,16E 01 1,06E 03
5,46E 00 2.16E 02
1,08E 00 3,35€ 01
3,02E«01 7?,66E 00
?,68E-02 1,58E 00
2,52E-02 4,37E=01
6,51E=03 9,14E=02
1,16E-03 1,24E=02
1,08E-04 7,99E-04
1,13€-05 5,79E=05
1,70€E~06 6,316-06
2.36E-07 6,22E-07
1,07E-08 3,22F~08

EB =5,2000E~01 XEV

£S5

6,15E
2.30¢E
6,36E
1.09E
1.55E
2.,6¢6F
4,S8E
S,85F
1,1¢¢
2,07F
5,14E

9.55E=
1,14E=
6,33k~
4,16E=
6,15€~
3,56¢E~
1,23E~

0?
07
06
06
05
04
03

02

02
01
00
01
01
03

06 -

0S
o6
07

M1

2,12E=02
1.42E-02
8,46E=03
4,15E=03
1,8RE=03
9,19E=04
4, 49E=04
1,936-06
9,90E-05
4,84E=05
2,/0E-05"
1,32E=05
5,32E=-06
1,49E=06
4,29E=07
1,43E=07
4,10E-08
6,31E~00

ER =5 ,1300F=01 KEV

ES

1.09€E
4,02E
1.10E
1.85E
2,5¢E
4,26E
7,10E
8,64E
1.64E
2,75E

- 6,46E

1.11E

1,17€E=
5,31E=
2.76E~
" 2,27E-
1,66t
5,.64E~

08
0?

07 -

06
05
06
03
ne
o2
01
00
@0
01
03
06
05
0
08

M1

9,01E~03
5,09E=03
3,66E~03
1,82E~03
8,38E-04
4,16E-04
2,06E~04
9,02€E~05

4,70E=~05

2,3464E=05
1.33E=-05"
6,68E-06
2,7%E=06

. 8,40E=~07

2,68E~07
1,02E-07
3,60E~08
8,72E~-09

M2

2.84F 00
1,69E 00
8,570+01
3,39E-01
1,21E~01
4,77E-02
1,88E=02
6,32E-03
2.67E~03
1,06E-03
3,03E-04
2.03E-064
6,356-05
1,28E-05
2.71E-06
7,000-07
1,55E-07
1,69E-08

M2

6,61 00

3,58 00 -

1,62€ 00
5,47Ew01
1,66E701
5,70E~02
1,98E-02
5,76FE=03
2,19E-03
7,86E~04

3,43E-04

1,26E=04
3,54E~05
6,27E=06

"1,21E-06
. 3,026-07

7,10E=03
1.,12E-08

M3

2.76F 02
1,7F 02
6,458 01
2,048 01
5,9%F 0O
1,92F 00
h,17F=01
1,603E=01
5,73E~072
1,87F=02
7.56F=03
2.50E=03
6,16E~04
&,92E-05
1.41€~05
2.86E~06
4,93E=-07
3.90E-08

M3

1.83E 03
8,46E 02
3,16E 02
8,12E 01
1,85E 01
4,95€ 00
1,34E 00
2.94F=01
B8,96E=02
2,54E=02
9,19FE~03
2,69E~03
5S,66E=04
4,69E~05
8.60E-06
1,47E~06
2,17€-07
1,74E=08

MG

2.34F
1.12€
4,26F
1,.13E
2.58¢E
6,80FE
1,79
3.75F
1.00E

2.935E-
1,016~
2.76b=
5.35€~
S,66E~
6,62E~
1,05E=
1.642E=-
8,20€~

MG

2.48¢EF
1,02E
3.23E
6,76E
1.22F
2,63E
5,76E
9,87k
2.49E

5,75k~
1,76k~
4,23E~
6,97E~
5.91€~
5,56E=
7,22t~
7.69k~
3.40€-

04
0%
03
03
02
01
01
no
00
01
01
02
03
Q4
05
05
0o
038

05
05
06
03
n3
02
01
00
00
01
01
02
03
04
05
06
07
06

M5

1,85€ 06
7.92E 05
2.,61E 05
5.67E O«
1,04E 04
2.24E 03
4,868 02
8,00F 01
1.94E 01
4,278 00
1,25E 00
2.846E=01
4,33E=02
3.33E-03
2.91E=04
3,64LE~05
3,87E~06
1,66E=07

MS

2.64E 07
9,68E 08¢
2,65E 06
4.51€ 05
6.66E 04
1.,13E 064
2,02€ 03
2.72F o2
5.68E 01
1,08E 01
2,81E 00
5,57E~01
7.21E-02
4, 64E=03
3,12E-04
3,18E«05
2.02E-06
7.47E-08



EG

15
17
20
25
32
40
S50
65
80
100
120
150
200
300
450
650
11700
2000

E1

9,40€ 00
6,%8E 00
6,128 00
2,15 00
1,03 00
§$,28E=-01
2,69E-01
1,20€E=01
6,36E~02
3,19E-02
1,82E-02
9,15€«03
3,81€~-03
1,15€=03
3,79E~04
1,53E=06
6,156-05
10925'05
4,70E=06

E1

7,17E=01
$,09E~01
3,26E~01
1,73E~01
8,51E~02
4,43E~02
2.,29E=02
1,04E~02
5,55E-03
2.831E=-03
1,61E~03
8,17E=04
3,43E-04
1,05E«064
3.55E-05
1,40E-05
5,62E=06
1,76E=06

£E2

3.,71€ 02
2,50F n2
1,66E 02
6,77¢ 01
2,80F 01

1,246 01,

5,36E 00
1,98€ 00
8,90E~01
3,76E=01
1.85E-01
7.83E=02
2,60E+02
5,76€-03
1,41€E+03

4, 47E~04-

1,642E=04
3.30E=-05
S.,96E-06

E2

2.71F 01
1,84E 01
1,10E 01
5,2.E 00
2,216 00
9,98E=01
4,42E~01
1,66E=01
7.60E~02
3,256=02
1,62E=02
6,90E=03
2'325.03
5,19E=04
1.28E=04
4,08E=05
1,29E~05
3,02E=06

E3

1,164E 06
7,47 0%
4,13E 03
1,73E 03

6,208 02

2,36E 02
8,78E 01
2,67E 01
1,03E 01

- 3,67E 00

1,57€ 00
5,61E=01
1,50E-01
2,647E-02
4,59E-03
1,17E~03
2.96E-C4
3,32E-05
7.45E=-06

x 24

E3

7,30 02
L,93E 02
2.R2E 02
1.23¢ 02
4,62E 01
1,82E 01
6,96E 00
2,18E 00
B,57E=01
3,11E~01
1,35E-01
4 ,87E=~02
1,32E~02
2,22E~03
4,16E=04
1,06E~04
2,72E~05
4,BBE=06

X1

SHELL

Ea

3.38E
2.16E
1,12€
4,25€

1,32€

L1

4,35
1.38E
3,46E
1,14E
3,42C
1.27E
31.82¢€

8,23k~
1,01~
1,44LE-
?2.94€E~-
6,00E~
8,33t~
9.19E~

05
0s
05
04
04
03
03
02
02
01
01
00
01
01
02
03
04
0S
06

SHELL

Eé4

1.51€
1.09E
6,40F
2,68E
9.03E
3.14¢
1,04E
2.72€
9,20F
2.83F
1.07F

3,27E~
7.18E=
9,03F~
1,30F=~
2,68E~
5.51€~
7.66E~

04
04
03
03
02
02
02
01
00
00
00
01
02
03
03
04
05
06

ER =25 9R00NF 00

£3

1,01E
6,29E
3,11E
1.05%¢
2,.81E
7.98¢
2,16€
4,b4E
1,25¢E
3,14¢
1,02¢
2.57E
4, b4E

or
06
06
06
0%
04
04
03

03

02
02
01
0o

4,08E-01

4,43~
7,28E~
1,208~
1.28E=
1,12€~

EH '6,9500E=01 KEV

ES

1.87E
1.82E
1,24E
5.39E
1.70E
5.29E
1,53E
3,35E
9,74E
2,53E
8,38¢
2.10E

3,836~
3,61F~=
3,99EFw
6,64LE=
1,10E~
1,18E~

n2
03
03
04
05

05
05
0s
04
04
03
03
02
01

01

00
00
01

02

03

04
04
05

M1

4,93E 00
3,41€ 00
2,12€ 00
1,11€ 00
S, 44LEw01
2.,B8E=01

1 .54Ea01

7(50€E~02
4,27E-02
2,36E-)2
1,47E¢02
8.26E-03
4,01E=03
1,51€03
5,93E=04

2,66E=04

1,10F=04
3,08E=0S
$,81E-006

M1

4,58Em01
3,17E%01
1,97E=01
1,03E~01
5,06E-02

2,69E-02

1,44E-02
6,97E=03
3,97E~03

2,19E=-03

1,36E=03
706“5‘0“
3,71€E~04

1,39E=04 -

S.46E~05
2,45E~05
1,01E=05
2.82E706

KEV

Mo

3,03E 02

-4,85E 02

9,83%E 01
4,%4E 09
1,61 01
6,91€ 00
3,00E 00
1.15€ 00
5,43E=01
2,L7E-01
1,31E~01
6,15€=02
2,38E~02
6,65E=03
2.01E=03
7,29E=04
2,45Ew04
S,24E~05
7,45E~06

M2

3.77E 01
2,24 01
1,15E 01
4,64E 00
1.73E 00
7.25E=01
3,08E=01
i,15E=01
S,36€E»02
2,40E~-02
1,26E~02
5,87€-03
2,25E=03
6,23E-04
1.87E»04
6,76E»0QS
2,26E=0S

4,82E=06

M3

1,21E 064
7.03E 03
3,42E 03
1,25€ 03
4,08E 02
1,48E 02
5,37¢ 01
1,65€E 01
6,58E 00
2,48€ 00
1,13 00
4,42E=01
1.36F=01
2,81E=02
6,44E=03
1,88E~03
5,09E%04
B,43E~05
9,33E-06

M3

2.,36F 03
1,24E 03
S,6E 02
1.79E 02
5,28 01
1,79€ 01
6,15 00
1.80E 00
6,93E=01
2.54E-01
1,14E=~01
L,37E=02
1,32E~02
2,68E~03

6,06E=04

1,76E=04
4,73%F=05
?7.78E=06

M

4,9E 05
2,81€ 05
1.14€ 05
3.68E 04
1,02E 06
3.13€6 03
9.56E 02
2.38F 02
7.98€ 01
2,506 01
9,81€E 00
3,19€ 00
7.80€E-01
1,18E-01
2,04€-02
4,76E-03
1,03€-03
1.32€-06
1,156-08

M&

1.42€ 05
6,70E 04
2,54E 04
6,77E 03
1,59€ 03
4,38E 02
1.23& 02
2,82E 01
9.01E 00
2.71E 00
1.63E 00
3.27E-01

?7.77E~02

1.14E=02
1,94E-03
4,49E=04
9,66E~05
1,22E~05

M5

1.65E 07
8,89E 06
3,77E 06

. 1.08¢ 06

2,54E 05

- 6,64E 04

1.749E 046
3.44E 03
9.71E 02
2.53E 02
8.53E 01
2,31¢€ 01
L,68E 00
4,96E=01
6,46E=02
1,20€E=02
2,08E~03
2,.03E~04
1,40E=05

M5

8,55E 06
3.61E 06
1.18E 06
2.57E 05
4,83E 04
1,08F 04
2.L47€ 03
4L, 6E 02
1,18E 02
2.90E 01
9.41E 00
2.45E 00
4,58E«01
4,90E=02
6,22E=03
1,14Ew03
1,95E~04
1.89E~0S



EG

15
17
20
2s
32
40
50
85
80

100
120
150
200
300
450
650
1000
2000

EG

18
17
20
25
32
60
50
63

100
120
150
200
300
450

650

1000
2000

E1

8.11€-02
5,11E=02
2.79E-02
1,21€-02
4,73E-03
2,02E-03
8,55E-06
3,11E-04
1,39E-04
5,90€~05
2,93E-05
1,25€-05
4,26E~06
9,74E-07
2,39€-07
?7,23E-08
1,99€~-08
3,32E-09

E1

1,5%51€«01
9.49Ea02

5,16€%02
2,22€-02

‘8,66E«03

3,67E~03

4,5%E=03

S,58E=04
2.49E=04
1,05€=064
§,22€-05
2,24E=0S

7.,66E~06"

1,80E-06
4,69E-07
1,55E=07
4,95€-08
1,11€«08

2= 24
E2 €3
3.17E 01 6.34E 03
1,698 01 2,96E 03
7,28 00 1,10E 03
2.61E 00 2,R4E 02
6,94E-01 6,36E 01
2,26E=01 1,6%E 01
7.37E=02 4,29F 00
1.99E~02 8,89E=-01
7.08F=~03 2.58E«01
2.36F~03 6,90E-02
9,66E=04 2,37E~02
3,29E-04 6_,53E-03
&,386-0% 1,2RE=-03
1,30E=05 1,3BE=04
2,22E~06 1,6RE=05
4,93F-0? 2,R1E-05
G.78E=08 4,10€E=-07
1,03F=08 2,86E~08
s 24
E2 €3
S,74F 01 1,13E 04
3,038 o1 5,258 03
1,32 01 1,93E 03
4,23 00 &,38E 02
1,206 00 1,07E 02
3,83E-01. 2,69E 01 .
1,22€-01 - 6,81E 00
3,20E=02 1,35€ 00
1,11E=02 " 3,77E=01"
3,57E~03  9,61E02
1,62€6=03 3,16E-02
4,65=064 ‘8,17E~-03
1,12E=04 -1,46E=03"
1,626=05 1,36E=04
2,590€E~06 1,42E-09
S,6TE=07 2,16E=06
1,18E=07 2,97E<07
1,62E=08 - 2,67E=08

12 TSHEWLL

E&

7.71€E 05

3,22E 05

1,03 05
2,17 04
3,.87E 03
8,15E 02
1.72E 02
2.80E 01
6.72€ 00
1.67€ 00
4,28E=01
9,68E=02
1.48€-02
1,14€-03
1.31g-05
1.45E£=06
?.02e-08

L3 SHELL

Eq

1,36€ 06
5,548 05
1.79€ 05
3,69E 04

6,40E 03

1.,31€ o2
2,69E 02
4,16E 01

1.97€ 00
S, 46E~01
1,15E=01
1,56E-02
1,01€~03
©7.30E=05
T 49CE~0h
?.84E~07
4.04E=-08

9.%%€ 00"

TTEB =25 ,34D0E~D1 XEV

ES

7,49E

2.80E
7.79¢€
1.36E
1.,91E
3.30€
5S.,70E
7.31E
1,45E
2,60E
6,47E
1.21E

1,446~

07
07
06
06
05
04
03
02
02
01

00.

00
01

8,05E~-03

5 28g-
5,31E~

04
05

4,57E=06

1,58E~-

EB =5,7500E«01 KEV

ES

1.31E
4,.83E

1,34E

. 2,26E

3,14E
.5,25E
B,77E

1.07E.

2,03E
3.42E
8,05€
1.38E

1,47E=
6.67E~
3,48E~
" 2.,87E-
2,10€~
7.11€=-

07

08
07
07
06
0S
04
03
03

02

01
00

00,
01
03

0b4
05

06"

08

M1

2,65E=02
1,78E=02
1,06E-02
S,21E~03
2,37E-03
1,16E=03
5,67E~04
2,44E~04
1,26E=04
6,14E=05
3,43E~05
1,69E=05
6,79€-06

1,91E~06

ne
S,30E=07

1,83E-07

5,26E~08
8'09E-09

M1

1,11E=02
74351E~03

.4 ,52E=03
" 2,25E«03
1,04E=03

5,15E-04
2,55€E=04

1,12E=04
5S,85E=0%5 .

2,92E=05
1,66E=0S
8,36E=06

3,48E-«06
:41,05€E=06 .
3,35E«07,

1,27E-07

4,49E~08
1,09E-08"

M2

3,54E 00
2,11E o0
1,07€ 00
4,24E~01
1,52E-01
6,00E~02
2,37€-02
?7.99E~03
3,38E-03
1,35€-03
6,39E~04
2.,58E-04
8,10E~05
1,66E~05
3,47E-06
9,00E«07
2,00E~07
2,17E-08

M2

8,76E 00

-4, 76E 00

2.,14E 00
?7,20E-01
2.,18E~01

7,4L7E~02.

2,58E=02
7,50E-03
2,85€~03
1,02E-03
4,43604
1,62€-04
4,55E=05
8,01E=06
1,54F~06
3,83Em07

8,93Fm08"

1.40E~08

M3

3,40E 02
1,81F 02
7.99€ 01
2.59E 01
7,42E 00
2,3%9E 00

7.74E~01

2,05E~01
7,22€8~02
2,36F=02
9,54F=03
3,17E-03
7.83E-04
1,15E=04
T.81E=05
3,67Em06
6,35€=07
5,02E~08

M3

2,48F 03

1,14E 03
6,238 02
1,09€ 02

2.48E 01-

6,58E 00

1,77E 00

3.87E«01
1,18E»01
3,33E-02

1.20€-02

3,50E~03
7.365-06
8,65E~05
1,11€-05
1,88E-06

_2'76E'°7
"2.19E%08

M4

2.86E 04
1,376 04
5,22 03
1.3%9E 03
3.19E 02
8,4L0E 01
2,23E 01
4 ,69F 00
1.37€ 00
3,6RE~QY
1.27€=01
3,49E-02
6,78€=-03
?7.20E~04
8,46E-~05
1,35€~09
1.83€=06
1.07E~07

MG

3,.35€ 05
1.38€ 0S5
4,35E 06
9,06 03
1.63E 03
3,49E 02
7.63€ 01

1.30€ 01°
3,27E 00

7.54E=01
2,31€~-01
5.53E~02
9,08E£~03
7.68E=04

?7.19€-05 .

9.32E-06
9,88E=07
4.32E~08

2.
9.
3.
6,
1,
2,
5.
9.
2.
5.

M5

23E 06
S?E 05
178 05
93E 04
28E 04
77E 03
99E 02
95E 01
42€ 01
35E Q0

1.57E 00

3.
5.

12

3.
“.
L'
z.

3,
1,
3.

S8E~01
LaE~Q2
23E=03
?1E~04
66E~05
97E=0¢
14E~07

MS

S4E 07
30E 07
53E 06

6.00E 05

8.

58E 04

1.350E 04

2.
3'
7.
‘9.
3'
7.
9!
5.
L,
4.
3.
9.

67€ 03
S9E 02
46E 01
41€ 01

6ELE 00

27E=01
39E=~02
?77E=03
04E~04
12E~05
37E=06
S4LE~Q¢E



13
17
20
25
32

30
45
8o
100
120
130
200
300
450
630
1000
2000
6000

EG

15
17

25
32

LY

50
65
80
100
120
50
200
300
450
650
1000
2000

E1

1,01F 01
T,07¢ 00
&,L&E 00O
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1
9
2
3

~

1
2
7
1
4
1
1
1
1
1
1

18€ N9
OxE 0¢
05E 04
63F 03
7%c 02
678 02
&82¢ 01
G1E 00
ANE 00
&RE=01
16E=-01
Kate-n2
SRE=N3
L7F=04
BxF=08
Q7f=-0h

R.2%F~NR

3.69F 06
L.60F 06

1
5

1.1%F 05
?2.24F 04
4.,91F 03
1.08¢F 03
1.81F 02
4,40l 01
O.%1F 00
2. t 00
6, 73F=-01
1,04E-01
R,15F«03
7.23F=04
9,19FE=05
0,490k=-006
4,31k~07

M5

R.09F 07
2.95¢ 07
7.98E 06
1.34F 06
1.90F 0%
3,29F 04
S.830E 03
?7.72FE 02
1.59E 02
2.99F 01
7.75€ 00
1.52F 00
1,95F=01
1.19F=02
R.26F=04
R,36F=05
6.78F=006
1.87F=07?

- gb -



EG

15
17
20
25
32
40
S0
65
80
100
120
150
200
300
4«30
6%0
1000
2000
6000

EG

15
17

23
32
40
S0
65
80
100
120
130
200
300
&%0
630
1000
2000

E1

1,01 o1
8,55k 00
3.0E 0O
2.86E o0
1.60€ 00
7.25E=01
3.73E-01
1,69€-01
9,03E~02
&,58E=02
2.6}5-02
1.,34E=0?
$,63F=-01
1,73E=01%
$,75€=04
2,35€-04
94“75'05
2,94E-05
?.,10E~06

3

9,30E~¢!
6,68E-01
«,%2€-01
2,34E-01
1,18€6=01
6,22€«02
3,26E-02
’05‘5‘02
8,15E~03
4,18E~-0%
2,62€-03
_102‘5"03
$,28E~04
1,6LE=04
$,48E=05
2,24E=05S
90075'06
2,82E~06

3.53F 02
2.52F 02
1,5AF 02
?.71E 01
Y,35F 01
1.53F M
6,84F 0N
2.59F 0On
1.,19F op
5.12F~01
2,9560F~01
1.10F=-0
NV, ?21F~-n?2
& ,30F~03
2.10F-01%
h,7RF«04
2 V8R4
5,13F=-05
9,11E=-0¢

(4

2,69E 01
1.99F 01
1,198 01
5.99F ono
?.68F no
1.2%€ 00
S.73F«01
?.,23F=01
1,0LFE«01
4,55F-02
2,30E=07

“1.,00F~0n2
T,L3F-0%

7.B9F=04

1,99F=04

A, LBF=05
2.09F=-05
4,93F=n6

7.51F ot
S.60E Ny
3,59€ v
1.64F 0t
h,66F 02
2.02F 02
1,028 02

3,258 01

1,29t 01
4,728 0
2,07t 0N
7.52k-01
2, NhE-01
3. 51F=02
6H,?2F=01%
1,75E6<01
&,56E-0u
8,35%E=~0Y
1.,106F«05

E3

4,50k 02
3,67E 02
2.78€F 02
1,164 02
6,72F o™
2,00E 01
8,048 QN
2.67E 00
1,09k o0
L, 08t=-01
1.,82E=01
&,73%¢t-0n7
1,84¢=02
X, 27€-01
6,30E-04
1.67Fk«04
4,IVE=DS
A, 0KE=0A

1

SrELYL

o

1,52F 05
1.19¢ 05

"?7.52% Q4

L1

3,372 04
1,720F 0Ot
4,%1F 013
1.¢F 03
y,91F 02
1,34F 02
6, 10EF 01
1,59¢ 01
L,91¢ 0O¢p
1,090F Ny
1.60F=01
2.07F=002
4.V E=013
Q,20k=04
1,31€=-04
1.66LF=0Y

SHELL

[0

3.07F D3
3,73 0%
1,2¢2F 01
1.82F 0%
7.51¢ 02
?2.95F 0¢
1,07 02
2,04F 01
1,0HE 01
3,47F QU
1.36F 00
4,30Fe0
Q. B3Fren?
1,.30F=02
1,9%F=013
L, 178=00
R,R7¢-05
1,27€=05

FR oz e 0y N
FS vy
3,128 06 9,41F O¢
2,5¢E . a6  H,50F 00
1.63E 06 4,J)2F OO
&,9¢F 05 2.04WF 00
2,23 05 1,92% G
7,098 04 S.i5F~01
2.00F 04 2 ,d4F =01
4,66k 0 1,36E-01
1,38E 01 7,71F=02
3.63E 02 4, 22F=072
1,218 02 2,60GF=0¢
3,178 01 1,05%F=2
5,71k 00 n,27L=D%
S,50E=01 2,5+r=0%
6,24FE=02 U, 09k =0d
1,07E=02 a4, nl2b=04
1.,83F=~03 1,40F=04
2.0 F=04 4, 45F=0%
1,77Fa0S M, 36F=¢

ER 21,0080t 00 X

£S

1,33F 05
2,55E Va
2.5&F qa
2,328 04
1,0RE 04
4,13F 03
1,%7€ 0%
3,.¥?F 02
1,05F 02
2.91¢F o1
1,00F 01
2.71€ 00
S,0%E=01
5,05F=02
5,RPE~03
1,02F=03
1.77E~04
1.96E=-05

wy

<

20F~01
5%F=~01
PIE=01
NS =01
Yotk =0¢
25¢ =02
?or=0p
Jur«¢
55F=~-03
12+ =03
SLFa08
Lob=2%
T9F =6
S1F=06
ARF=0Y%
4,27k=04
1,24F~05%
H, ?P1F=006

CN D> =2 & N=2N NNV WD)

5
3
1

-7

2
1

)
2

- Q

&
I'4
1
4
1
s
1
4
8
1

A
4
4
9
3
1

6
2
1

4
é
1

4

1
b
1
3
8

2

L2240
LUNE 0?2
JASE 0
A R
LRRF 0
rd R
JAKE 00
JO?E 00
L 75E-01
YAF =N
LIVE=-01
LORE SN
R E P,
WAL F =02
yUNF 03
23F=01 3
JOE=DG
H3E-05
ARy

"o

LR27E o1
LRoF N
Laetk 01t
JPIFE 00
58T w0
LW?78 DO
L1506 =049
250 -0
L6 =01
LH9F N2
A9k ey
JIDEeN?
WI1AF =013
s 13F=-n3
 dLF-04
L0k -00
LOSF =09
R L)

NN s

A
2
2

?
1
4
y
7
-

&

A

3
4
I
1

5
2
1

b N R I e

?
e

1
1
n
1

'3

LTCE 04
LO07F Qo
JAsE 03
LO7E O3
L9228 02
LS56F 07
LeOF 01
LRZ7F 01
L16E 019
,ZUF a0
L9%F D0
yOOE=01

D, YsFe0n

AL I
'OUE—OP
L15F=013
LR =0
LY =04
LuBE=06

LI1CF 03
LHRF 03
LY1edr 03
L7E 0?
LJORE 02
LR1FE 01
,22F 01
L.52F 00
LYLE 0N
JROLE =01
LISF-0
LISFeDY?
Ll =0)
JBSE=DT
LRV =03
LI1F=ng
JY0F=n’
LYuFe0s

MY

46,67F 09
2,94E 05
1,LAE 05
S,.26F 04
1.55F 04
L,96F 03
1,5%5%€ 03
3.94E€ Q¢
1,33¢ o2
4, 19F 0
1.685F 01
S,Y7F 0o
1,Y1F @0
1,08E=-01
L, L2E=-02
7,95F«}
1,726=01%
2, 18E=04
1, RLF=-0S

M,

2,99€ 0S
1,60F 0%
S.26F 04
1,398 04
3.22¢ 03
R,725F 02
2. L2F 02
S,6K8F 01
1.72%F 01
5,13 0o
1,94F no0
6,.00E~0N1
1.,.471F«01
2. 07E~p?
J . LeE=-N3
?.94F~n4
1.706~04
2,12E~05

MS

1,20F 07
?7,87E 06
3.97E 06
1.33E 06
3,47F 05

Q,68F 06

2,60F 06
S.47F 03
1,96F 03
4, 19F 02
1.40F 02
3.,80E 01
7.41F 00
R.2%3E~01
1.07F-01
1.99€«02
3,45F=03
31.36E«04
2,26F«05

M5

1.73¢ 07
7.30E 06
2.38F 06
5.15F 05
9.59F 04
2.1%E 04
4,81 03
R.S5RE 02
2.24F 02
S.45F 01
1,76E 01
4t ,S3F 00
R,37F=01
A.82E~02
1.11E«02
2.01F=-03
3.43FE=04
3,28E=05



2 = 23 Le  SnrLL ER mn8,7200F=01 KtV

EG k1 F2 3 [ (3] 11 M2 M3 M4 MS

15 1,9E=01 6,80F 01 1,38E 04 1.6Z€ 06 1.50€ 08 5,93E«02 7.R1E 00 7.20E 02 5.76F 04 4L.2RE 06
17 9,52E~02 Y,62F 01 6,6AF 03 6.,BO0F 05 S.68F 07 H,00FK~02 L,67F Q0 3.87¢e 02 2.79E 04 1.87E 06
20 5,2RE~N2 1,60F 01 2,61 03 2.20F 05 1,60E 07 ?2,39F=-02 2.39FE 00O 1.72F 0¢ 1.08F 04 ~.30E 05
25 2,33E=02 S.,2% 00 &6,76E 07 4,ANF 04 2,8B0F 06 1.1hk=02 9,%1E=01 S,63F 01 2.92F 03 1.41F 0S
32 9.32€E~03 1.52¢ 00 1,616 02 R,642F 03 &4.06E 05 S.L0E=-0T 3.43F=01 1.63F 01 6,82E 02 2.65E 04
40 L,04E-N3 4 ,97F~01 3 ,A8E 01 1.79E 03 7,09E 04 2,66F=03 1,37F-01 S,32E 00 1.83F 02 S.84E 03
50 1,76E=-03 1,63F=~01 2,65E 00 3.83F£ 02 1.26E 04 1,31F-03 S, L4F-02 1.74F 00 4 ,B9F 01 1.2RE 03
65 ©6,LLE-04 4L, 44E~-02 2,02F 00 6.30F 01 1.61F 03 5,49E=04 1,85F~02 4 ,6AFE=01 1.04F 01 2.17F 02
80 2.93€E=-04 1.60F=02 S, AR9E=-01 1.52F 01 3.2%E 02 2, 96F~04 7.87?R=-03 1.65F=01 3.08E 00 5.35E 01
100 1,26E=04 S5,3%FE=03 1,59F=«01 3.35F 00 S5.%7E nt 1,65FE=06 3,16FE=03 5, ,45E=02 &,37E=01 1.20F 01
120 6,31€E-05 2.,21E=03 4,50E=~02 9,.86F~01 1.47E 01 B,13E=-05 1.516-03  2.,022¢=02 2.91F=~01 3.55F 00
150 2,73E=-0S5 7.56F=04 1,52E=-02 2,25F=~01 2.77F 00 4,02F=-05 6,12F=04 7,04E=-03 B,07E-02 8.17F=01
200 9 ,L3F=06 1,95F=04 3,01E=0% 3_boF=02 3,35F=01 1,A3F=05 1,94E-04 1, Ref-03 1.59E=-02 1.27E~01
300 2,20€~06 1,06F=-05 3,30E=-04 2,72F-03 1. QUE=n2 4 ,63F8=06 3.96F=-05 2,75+~-04 1.71Fk-03 9,.,98F-03
450 5.47FE~07 $S,27F-046 & 0S5SF=-0S 2. bbLE=DL 1,27E=0% 1,.3LE«0h R,50F-06 L,30F-0% 2,06F-004 R,B8RE~-04
650 1,67E=07 1.,18F«06 6,RB3F=-06 3.16FE=05 1,29E=04 6, 48F=07 2,22F=-06 9 01F~06 35.3%30E-05 1,13E=«04
1000 & ,65F=08 2.36F=07 1,01F=0A 1 _SKke=n6bs 1, ,12E=05 1,29F=-07" 4 ,94AF=-N7 1 ,58F=06 4 ,S53E=06 1.22E~0S
2000 7,75FE=09 2,49F=08 7,03FE=-04& 1.74F=07 3,93E-07 1,97F=08 5.,42E=08 1,26F=07 2,.67F-07 5,36E=07

7?2 = ?3 LY SHEtL ER =R 5500k =01" KEV
EG E1 E2 E3 - % ES M M2 M3 M4 MS
15 2,764E«01 1,21 02 2,41E 04 2.80F V& 2,58F 08 2,33E~02 2,41k 01 ?7.564F 03 1.02E 06 1,04F 08
17 1LTLE-S1 A,40F 061 1,12E 84 1,3TF 06 §,6TF 0T  1.58F=02 1,30F 01 3,45F 0% 4,13F 05 3,7vE 07
20 9.60E=-02 2.80F 01 4,13F 03 3.73F 0S8 2.69E 07 ?.92E=-03 5,85k 00 1.26F 03 1.29€ 05 1.02E 07
25 4,21€6=-02 ©9,01F 00 1,05E 03 7.76F 04 4L ,60FE 06 4 ,76€-03 1,96E 00 3.19F .02 2.66E 04 1.72€ 06
32 1,67E-02 ?.956F 00 2.31¢ 02 1.30¢ 04 6, 49E 05 2.216=-03 5,87F~01 ?7,12F 01 4,66E 03 2.42E 05

40 ?7,19E-03 B_.23F-01 S,R87F 01 2.81F 0% 1_,10FE 05 1,10F-03 1,99F-01 1.86F 01 ©9_,82F 02 4.19F 04
50 3,08E~03 2.64E=01 1,69E 01 S.80E 02 1.,85%E 04 5,49FE=~04 6,B2FE~-02 L,95E 00 2.13E 02 7.38E 03
65 1,13€E~-03 6,96F=02 2,9RF 00 9,07F 01 2.29F 03 2,02€E~04 1.96E-02 1.06F 00 3.58€E 01 9,78€ 02
80 S,10FE-04 2,43E=02 B8,36F=«01 2,09F 01 4,3%F 02 1,27F=04 7,35€-03 3.19E~01 '8,B9FE 00 2,02€f 02
100 2,1BE~04 7,8SF«03 2,14E=01 4.35F 00 7,45f 01 6,35E-05 2,60E-03 AB,92F-02 2,.03F 00 .3,77F 01
120 1,09E=064 3,164F=03 7,06E=02.  1,21¢ 00 1,7¢E 0t 3,62E-05 1,12E-03 3,19F=02  6,15E-01 9,77E 00
150 4 ,72€~05 1,03E~-0% 1,83E=02 2.59€=01 3,05€ 090 -1,R33E-05 4 ,06FE-04 9,19F~03  1,46E=01 1,91€ 00
200 1.,664E=-05 2.51E=04 3.29E=-071 3.51F=02 3.26FE=-01 7.66E~06 1,12E~04 1,90€=-03 2.37€E~=02 2.45E£=01
300 3,90E-0/ 1,62F-05 3 09E-04 ?2.2RF=-03 1,50F~-02 2,3%2E~-06 1,93¢-05 2,20E-~04 .1,98E-=03 1.49E=02
450 1,02F-06 S5,84FE=0& 3,26E=05% 1,66F=04 7 89FE=04 7,41€E=07 3,606F-06 2,77F~=05 .1.B3€=-04 1.03E=03
650 3 ,4O0E-D? 1,27F-06 4,86E-06 1,82F=05 6,5%E-05 2,80F=07 B,90F-07 4,62F«006 2.364E-05 1.04E~04
1000 1,09E=07  2,64E-07 6,75E=07 1,79F-0r 4 R2E~06 9 ,838E=08 2,03F-07 6,60F=07  2.464E=06 8,43FE=006
2000 2,63F-aR % SEF-nk 5,52F-0a 9,12F~0H4 1_.62F-07 2,37F«0R 3,09F-08 4,97E=08 1,01E-07 2.30E«07



7 = 2y <1 Sem L FR 2H ,9720Q3F 00 Kty

ECG k1 £2 £3 [ fs b1 Mo vy Ny ms

15 1..8€ 01 3,40F 02 6,39E N3 TL16F 05 2.0%E 06 1.,399F 01 6, 62F 02 1,88F 04 4, L4LF 0OS 1,01 07
17 9.N4E 00 2.L7F @2 S,N0E 0% B.66F 04 1,R8E 06 7,34E QO 4,04F 02 1,168 U4 2.92F 05 ?7.13E 06
20  S,TLE 00 1,56F 02 3,260F 0% A,51F 06 1,31F Qo 4L AGF 00 2,14F 02 &,00F 03 1,53%FE 0S 3,.R3E 06
25 3.n5f 00 L85F 01 1,539& n3 L1k 04 6,0¢FE 05 2,42F N0 B,9«E 01 ?2,31F 013 L&2E 04 1.35F 06
32 1,50FE 00 LL6F D1 A 4PE G2 LISE 06 2,0%E 0S5 -1,18F 00 3,44FE 01 7,79F 02

1
y LH9F 04 3, 07E 05
40 7,7KE=01 JEOF 01 2,ASE D2 4, 2%F 03 A, 79F NG A,1RFE=01 1.46E 01
1
3
1

S
1
2.R7E N2 5.4RE 0% 1,04F 0%
Le0F 03 2,04F 04 3,27¢F=01 6.31F 00 1,05F 02 1,73F 013 2.84LF 04
X 4
1 1

~N = oM N

50 4,01E=01 JIRE OC 1,.0%F n? 2
65 1,83FE~01 ?2.75F oon 3,37FE 01 L?7F 07 4,658 03 1,57FE~01 2.38F G0 Y,25%F 01 LJU1E 02 5.,99F 013
80 9,77F=02 1,27F 00 1,35 M LI7F 07 1,39F 03 8,84F~-02 1,71E no L29F D1 LS0E 02 1.,73F 03
100 6,97E~02 S,4?7F-01 &4 ,97FE 00 4 ,32f 01 3,71t 02 4 .,43E=-02 S5,.01F=-01 4 ,B7F 00 4,72€E 01 4 ,59E 02
120 2, E=pn2 ?,74F~n1 2,19€ 00 1.6¢6F U1 1.25E 02 2,97€=~02 2,64F=01 2.22F 00 1.86E 01 1.56F 02
150 1.'»E—02 1,13F=01 8,N1F=01 S.172F 00 3,306 01 1.65€6=02 1.23F=01 R.611~-01 6,05E 00 4,26E 01
200 6,14F=03 4L, ND1F=~02 2.21k-01 1,14F 00 6.01E 00 7.93t=03 G,69F=-02 LHBE=019 1,688 00 R,32F 00
300 1,R9F=03 ©Q9,131Ff~=03 3 ROE«N? 1 ,50E=-01 S,H7FE=-01 2,92E~03 1,29F=-02 L36F =02 L23E=01 9,25F=01
450 6,32E~-04 2,2%F«0% 7 V1E-0% 2 2uk-02 &6,764F=-02 1,13F=-03 3,85F-01 L,22F=02 3 ASF-02 1,21E=-01
4
1
1
1

- nnN

1000 1,06F-04 ?,61F=04 5,0%E-04 LOVTE=03  2,01E-0% 2,02E~06 &,S5BE-Q4 L56F=04 L94LE=03 3,88E=03
JL6F=04 2.25F=04 5,44F=05 9,54E-05 L55F=04 JLhE-04 3 ,77E~04
L6UE=05 1,97E=NS. 9,725F~0h 1,29E«05 L6LF=0S 2, 05FE-05 2,52E=05

?
3
650 2.,58F=04 ?.L45F=04 1,92€=0"1 L76F=01 1,16F=02 4,97E=04 1.38F=03 3,56F=N3 8, 94E=01 2.20F=02
1
2

2000 3,24F-05 5.6PF=-05 9,26E=-05
6000 7 ,79E~006 1,01F=~05 1,28E-05

- . O

7 = 29 L1 SHELL FA =1,0960F 00 KEV

EG X F2 £3 Fe FS M M2 My Mg “g

15 9,82F~-11 2.6%F 01 3,736 02 1.59F 03} 2.82E 05 1,088 00 92.93¢ 01 6,13F 01 3.,54F 05 2,038 07
17 T.07F=01 1,89F 01 3.05F 02 2.39F 03 4,62F 04 7 ,46E=01 S,B3EF 01 3,20F 03 1.6AF 05 A,S6E 06
20 4, S59F=01 1,20F 01 2.NQE 02 2 4etF 03 1,564F 06 4L, 61F~01 2,94F 01 1,3RF 0% 6,23F 04 2,79E 06
2%  2,50F-04 . 10F 0o VY, O0BE 02 LSTE 0 1.67F 04 2,60F=01 1,16F 01 4 ,4L%F 02 1.64F 064 6,04 0S5
32 1,26E-01 2,778 no 4 ,6SE 01 L93F 02 9,10F 03 1,17E-01 4,268 00 1,28F 02 L79F 0% 1 ,12E 05
40 6,70F=n2 1.31F 00 2.01E 01 LByg ng 3,748 03 6, 14E~Q2 1.74€E 00 4,25 019 L,0%F 03 2.49F 04
50 3,53E-02 6.03F=01 8,25 00 LON6F 07 1.30F n3 3,25¢=-02 7.23E=01 1,464F 01 LB3F n2 S.61F 03
65 1,66F=02 2,37e~-01 2.77€ 00 L06F 01 3,31 n2. 1,56E=~02 2.64F=-01 4,19F 00 6,30F N1 9,98E 02
80 B8,87E-03 1,11F~-01 1,14 00 L11FE 01 1,058 02 8,76E-03 1,216=-01 1,54F 00 2,.01F n1 2.60F 02
100 &4,57E-03 4,80F=-02 4, 31E-01 L60F 06 2,96F 01 4 ,7BF=03 S.34E-02 5,61FE-01 S,95€ 00  6H,31E 01
120 2.65E=-03 2,9F=-02 1.,9%E-01 o278 QO 1,038 01 2,93€~03 2., 77F=-0Q2 ?L.49F-01 ?.24E 00 2.,03F 01
150 1,36E~03 1,08F=n¢2 7.20E=02 LSLE =0 2.82F 00 1,43F~03 1,27F=02 JuPF=02 7.00F=01 5,22 00

N W

R R Y B e R I e A
o

200 S$,81FE=04 3 ,74F=0% 2 ,03F=02 LOSF=01 S ,%3F=01 7,81€~04 &4 ,79F=03 2,80F=02 1,64E=01 9,63E=01
300 1,81E-n4 R,65F-064 3,57E-03 JUOF=02 S ,42FE~02 2,47B~04 1,30€-03 S,5+F<03 2,37f-02 1,01E=01
450 6,08F«05 2,20F~04 6,99E-04 J13F=03  6,41F-03 1,10F-04 3,82E-064 1,24t=03 3,96F~03 1,26E=02
650 2,49E-05 7,19F-05 1,R5E=04 L60F=-04 1,13F=-03 &,85F~05 1,36E~04 3,55E=04 9,06F-064 2,29E=03
1000 1,01FE=05 2,34F~0S% &, ,RYE=-05 JBBE=0S 1,96E-04 1,96E~05 4,49E=05 9,45F=-0% 1,93F=04 3,90E-04
2000 3, ,14E=-06 5,51F-06 9,01E-0A Wb2E~05 2,21E~05 5,29€E-06  9,32E+06 1,52E-n5 2,41E-05 3,73E~05

-



EG

15
17
20
25
32
40
50
65
R0
100
120
150
200
300
450
650
1000
2000

EG

15

4
[

20

32
40
50
65
80
100
120
150
200
300

450.

650
1000
2000

k1

1,71E=n1
1.09E~01
6,08F=-02
2,69E-072
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